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1. 00: 0000

011300000000 731
OOobooooboooboobooooboon

O0: 03-5689-7319 FAX: 03-5689-7243
UO0D000: suzuki@cim.pe.u-tokyo.ac. jp

WWW: http://www.cim.pe.u-tokyo.ac.jp/ "suzuki
ODO00:000 14009200

.CO0ooDO0Ooooooooo

ANSIC (gecOOODO) (ccODDODOO K &R)

.goooooo

o 00 CODODDOOUDODOODOODOOOODODOOG
ugbobobooooobooonoobuooonoo

o JO0O0ODO0OOODD COBW.OODOOO /DM.OO0ODDOOOOOOO
cOooUooooOoOoDoOoOooooOoOon

o COUOOUOUOUDOUOOOUODOOD /JUDOUDOUDUDODODOO
uogbobooogooobooonoo

o ON TO C, P.H. Winston, Addison Wesley
gbodododododotiodooooooooooooo (DDDDDDD Cco
000000000)0000000000U00000O00DUUooooOOoooOn
goooooodood

. 0000000 WIXO00OO00OO0ooOoo0oOo dvio000 (emaindvi) 00000000

COO0O0D0O0O00O0000 "hsuzuki/InfoSys/Text 000000000 O00000OO
HEN
o DDODODDODODOOOO% xdvi “hsuzuki/InfoSys/Text/cmain OO OO

o J00DO00ODODODODOOOO 1: helloc OODODOODOO
“hsuzuki/InfoSys/Text/hello.c0 0000000000000 0OOOmuleOO
goooobooooouooood

goboobooooobobdooooboboooobbbooooobooobobbooooonoo
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googoogad

21 00000

oouououbibiobibibl Hello. DUOUOOOOOOOOO

N =

o O b W

/* hello.c */
#include <stdio.h>

main()

{
printf ("Hello.\n");
}

O 1: hello.c

1.[/+ 0000 +/|

000000000000 000O000O0DOoOoooooa/« x/ 00000000
goon

‘DDDDDDDDDDD‘DDDDDDDD (00)00DoU0oUoOUOoOOO

2. [#include<stdio.h>|

0000000000000000000000printf 00000 (DD0)000O0OOO
000000000|00000 (standard 1/O) 0000000000000 OODOOOO
gobboguobouooobbooobobooobbooobbooobooobboobbo
000 #include<stdio.h> O stdio O standard [/O 000

00 #include<stdio.h>0 000 #000000|00000 |00000 (0D0O)O

#include<stdio.h>UDlprintf D000 DOOOOOOOOOOOOOOOOOOOOO
00000000000000 stdio.h! 00000000

0000000000000 10oooo)oooo ™

3. main() OO

Pascal 0000000000000 0O0O0O0O0DOO0O0OODO COO0OOOOO (funce-
tion) 00 0000000000000 000000D0O000000OOmain0000O0O
gobobooooboboooobboooobbooaon

guodoobbboooodotbbibimaindggooooboooooooobbbon
gobbooddbbmaindggoooooonon

4000000

DDDDDDDDD@DD printf("Hello.\n"); 00000000 O0OOOOOODOOO
{0 0 ..0}0OODODOOmin(O)ODOOOO{ }YODOODOODODODODOOODODO

0;(00000)000000000000LO0U0OO{ YoODOOOOO|DDOOD| (O

0o)oooo

000 /usr/include/stdio.h 000000



5. [Goaa]

gobooooboboooobboooobobboooonoo

6. ‘printf("Hello.\n");‘
O0000U0O0Oprintf 00000000 "Hello."OOO (D00 D0)0000O0ONnOO

000 (00000000000000)00000|0000]0

7WDDDDDDDDD\
COD0OO Pascal 0O DDO0O0OOOO0OODOOOD 0000000000000

goood

1 /% hello2.c */
2 #include <stdio.h>

3 main(){ printf("Hello.\n"); %}
0 2: hello2.c

goooobod

I.mule000D000 FileOOOOO Open File (Cx C-£) 00000 helloc 000000
2. 0100000000000 FileODOOODO Save Buffer (C-x C-s) 0000000

3.shellOODODOOOD 300000



ooo0

> gcc hello.c
(00000000000 ooo0o0o0ooOooooooo
0000 muled0OD0OOO0OO0OO0DOOOOOOOOOOOOOOOO
oooooooooooooo)

> gcc hello.c

> a.out gccOUOOOOOOODOOOOODOOOODOODO

Hello.
>

O0: a.out 0 Command not found. DO 0O0OO0OOOOO0OOOOOOOOOOO

> ./a.out
Hello.
>

oooo

> gcc —o hello hello.c godoooboooooooOoo
> hello

Hello.

>

O 3: helloc OOOO




2.2 000O0O0OOO

000000 (0)00o000O0O000O0000000DOOUOO0O0ODODOOo0OOSs00O

globoooboboooboboboobuo 2000000 00DbO g@—?;Z)DDDDDDD

1 /% fahren.c -- Farenheit/Centigrade Conversion */
#include <stdio.h>

N

void main(void)

{
printf("0 F is %f C\n", 5.0/9.0%(-32));
printf("50 F is %f C\n", 5.0/9.0%(50-32));
printf("100 F is %f C\n", 5.0/9.0%(100-32));

}

0 N O O b W

O 4: fahren.c

> gcc fahren.c

> a.out

0 F is -17.777778 C
50 F is 10.000000 C
100 F is 37.777778 C
>

O0: a.out 0 Command not found. OO OOO0OOOOOOOO
> ./a.out

O 5: fahren.c DO OO

1. |void main(void)’
minJO0O0000000000000000000000000000000000020
00000000 cCoooboboooooooooon
00000 000 (0000000 (@o)o){00}
O0o00o0doodod0dmeind 0000000000 0O0OO0OO0OOOOOOOOO
0000000000000 0000 10000000000 0wmain() 0DOO0O0OOQOO
oodooooooodgoad ([}[][]D 0o [][})D ooooooooooooon

000 ANSICO OO void main(void) 00000000000 veid000Omain 000
O0000000DO000D0 “000000”’0000000000Woid)DODODOODO
gobbobbooogoobobtododgbbveiddggoobbooooooooog
HEN




godooooooooooo

2. [printf("0 F is %f C\n", 5.0/9.0%(-32)); ]

000005.0/9.0%(-32) 0000 (D0O0D)000 (bOoDOO)oOODODODOOOOO
00|00 |(00)000 (000000000 D)D000printf 0000000O0OO0OO
dobboooobbbooobbbooouobboooooo

(a) "0 F is %f C\n"
(b) 5.0/9.0%(-32)

"0 F is %f C\n"O0 (D00 "Hello"OODO)OOODOUDOOUDDOOOODOOUOODO
O000D00%f000000000000005.0/9.0x(-32) 00000000000

gogd

00000 (h)DoOODOO0oU0OO0DDOOU0DOO0OU0DOODOOOOO0 (0,1,2,...,90000

Oo00000000D00O00o%f0o0o0oooon

00000 pO0oUoOouooo (a)og

ggodoooooooooobobbbbbbbjodu pooo



3

obooood

ugbobboooobobboooobobuooooobooonoo

gbobgobobooobbooobboobboooboooboooboobbooobo

/* arith.c -- arithmetic */

2 #include <stdio.h>
3 void main(void)
4 {
5 int m, n;
6 int s, d, p, q, T;
7 scanf ("%d %d", &m, &n);
8 S = m+n;
9 d = m—n;
10 p = m*n;
11 q = m/n;
12 r = m)n;
13 printf("%d %d\n", m, n);
14 printf("/d %d %d %d %d\n", s, d, p, q, r);
15}
0 6: arith.c

> gcc arith.c

> a.out

1994 6

1994 6

2000 1988 11964 332 2

O7. 00000

.]int m, n; OOO0O0O

gobbodoobbtbooobbuoodbobbddtUintgdbbooo|oooD

000m, nDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00 (0D0D000000000000000000000000)0

EEL



2.0000000000i1int, short, longOOOOODOO
O Oopbooooogon
int (=2 ~2 1000 —231 ~ 231 — 1)
short (-2 ~ 215 1)
long (=231 ~ 231 —1)
UU00Oshort Oshort intU U U OlongUlong int OO0 OOOOODOOintOOO
Oobobooobooboobobooooboobooooboooobobn

000000000000 (DDO00O0)0D000OUOU0DO0ODOOOOOOO

unsigned int (0~2—1)000 (0~2%2-1)
unsigned short (0~ 2'6—1)
unsigned long (0~ 2% —1)

UO00O0Ounsigned int m; U QOO 0OOO

». [Gaooo]

guobgguobooobbooobboooob b oobobuobbbooobn
gobbooogbooboooobbooaon

4. ‘scanf("%d %d", &m, &n); scanfO[O
goooao (DDDD)DDDDDDDD m, ndO04Oddgdgd
"d %d" 00"1994 6"0 0000000000000 O0O0O0O0O0OOOOOO0O0O0O0O0OO

0000000000 Ppog%t %%c000000

O0000oobbbo0obbioo0bobb0oou|00bDbO00 Do 1994 6" x "1994,6"
O00000000D00O000oogooTd,»d"0oood

¢gm, en0000000000000O0OD (m, n)0&00000000O0ODO&O0ODOODOO
0000000000000 Pascal 00D 0O00OOO0O0OO0ODOODOOOO(DDOODO)
gooobod

5[5 = o]
ooodooo = 0,000 boooodoooogboooogooonoooon
ogoooooon

o [0ooag)

+, -, %, /, wW(O0ODOOOOOO0O00O)0
000000000000000000000

7. ’printf("%d %d\n", m, n);’
00 (O)m, n00000 (0O0O0)0000
"%d %d\n"0%d 0000 1000 0000000000000 00000

3.1 0OOOOoOoOoOg

int00000000000(000)00000000000000iINt00000000
000000000 (0000)0U00o0oUo00 (0000 15,00000)0sizeof 00000 sizeof (int
0000000b0o0b0o0ob0U00oo0b00oDbOob0b0o0b0OUDb 20000int000OD0OO
2000 (l6000)0000 4000 4000 (32 000)00004nt, longOOOODO
gogoooooooooobobbbbbbboon
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00000 (floating-point number) 00O

10
11
12

/* float.c -- area of triangle */
#include <stdio.h>
#include <math.h>

void main(void)
{

float a, b, c, s, area;

printf ("Enter three lengths of the edges of a triangle. \n");
scanf ("%f %f %f", &a, &b, &c);

s = (atb+c)/2;

area = sqrt(s*(s-a)*(s-b)*(s-c));

printf ("The area of the triangle is %f.\n", area);

0 &: float.c

—_

. |#include <math.h> 0O0O0O0O0O0O0O0O0OOOOOOO

0000000000000 0000000sqrt0000000D00DOODOD CODOO
gl LUyUUyuo g
goddooouoooooobbibibbbbbUbUUOmath.h 00O OOO

2. |float a, b, ¢, s, area;
floatOOdouble OOOOOOOOO0OOOOOOOOOOOO
float 00000000 600000107%~10®%0000
double float OO OOOODOOODOOOODOO
long double O OOOO

3. ’printf("Enter three lengths of the edges of a triangle. \n");
20000700000000000000000\nO00000O00O0O0O0O

4. ’scanf("%f %t NE", &a, &b, &c);
0000000000 000000D0a, b, cO0O0O0O0OOfloat00O0O0OO0OO%f0O0O
OOdouble D0 OOO0O0O0O0%1f0000000000a, b, cOdoubled0O00OO0OOO
scanf ("%1f %1f %1f", &a, &b, &c);

5. |s =(atb+c)/2; |

00000000000 (a+b+c) 00O O0ODO (2)0000000O0O0OOOOOOOOO
goboooobobbooobbooooboboo

6. [area = sqrt(s*(s-a)*(s-b)*(s-c)); |
sqre 0 O0aodooan




7.0000000000bO000bOobDOoobooDbooboooo

double cos( double x ) 00

double acos( double x ) ood

double cosh( double x ) oooog

double sin( double x ) o0

double asin( double x ) ood

double sinh( double x ) ooooo

double tan( double x ) oo

double atan( double x ) ooo

double atan2( double y, double x ) y/x0000

double tanh( double x ) oooog

double fabs( double x ) ooo

double exp( double x ) o0

double log( double x ) oooo

double logl0( double x ) oooo

double pow( double x, double y ) xY

double sqrt( double x ) NG

double ceil( double x ) r0000000000o0o0o
double floor( double x ) 000000000000

8. |printf ("The area of the triangle is %f.\n", area);
»#0000000000000000The area of the triangle is OJOO0O0O0OOOY%E.\n
O00O0Oarea0000000O0DOOCO.O000O0O0NnOOO

oo%000C00f0000000000000O0s000ooooooooOOOY%s0000

> gcc float.c -1m

> a.out

Enter three lengths of the edges of a triangle.
3.14.25.3

The area of the triangle is 6.506613.

0900000

0o000000000sqrt 000000000 DOO0ODOO0O0ODODO0ODODO0OODOO
googooooooooooboboboooon

% gcc float.c -1m
godddo-im00o0o0o0ooooon

oo oooooooboooon
godobooouooooboboooboogoooooooooooonootd-imdonong
googooooooooooboboboooon

10



5 00000 /00000

gobooobobbooooboo0oobobobo0oobDboobbboobD 100b0bbOoo
000000 (299 x 1073)00000000000000000000000000000
ugbooooododogoooboobooobobtboooooooobobbbooooooobooboobooa
goobooobobboooooogd

/* water.c -- calculate the number of water molecules */
#include <stdio.h>

#define GRAM 1000 /* grams of 1 liter */

#define MASS 2.99e-23 /* mass of a single water molecule */

S W NN -

void main(void)
{
float water, molecule;
printf ("Enter the amount of water in liter.\n");
scanf ("%f", &water);
10 molecule = water*GRAM/MASS;
11 printf ("The number of water molecules in %f liter(s) is %e.\n",

© 0 N O O

12  water, molecule);
13}

O 10: water.c

> gcc water.c

> a.out

Enter the amount of water in liter.

1

The number of water molecules in 1.000000 liter(s) is 3.344482e+25.

0o 11: 000

1. [#define GRAM 1000 ODOODO

#defineU OO |00DO0O0 0000000000 UOOOUOUOGRAMOOOOOOOQO
goiloootoniobibibibibbbod00doddddyd #define MASS 2.99e-23 [ [0 MASS
000000002.99-2300000299%x 1072 00000000000000000

O000 molecule = water*xGRAM/MASS; DO OOOOOO
molecule = water*1000/2.99¢e-23 O0O0O0O0O0OOO0O

11



2.\0000000
cobooooOooooooooooooOooOoOoOOOOOOCOOOOODbOOOOOODO
OO0ooobobobodbobobbi00bbO0O0b0O4#include U#defined 00O OO0
Ooboobobooobobooboooooooboooboboooooboboooboooboood
O0O0Ogecec -E water.cUOOOOOOOOOON

000000000 CO0000DoooUoooooooDoooO0O;0oO0oDoo

. 00do0obobboooboboooobbbooob0oooobDboobDboUoobOoooo
gobobooobbbooobboooobobooon

4. [%e DDDDDDDDDD\
printf( ... in %f liter(s) is %e.\n", water, molecule); 00 OJIOOOOO0O
DDDDmmDmmmmmmmmmsﬁmwkﬁ5mmmmmDD[ﬂDDDbDDDDD

5. 00000 (000)0000
t000 0,1,2,3,4,5,6,7,8,9 OO 123
soo  0,1,2,3,4,5,6,7 000000000000 0777
1600 0,1,2,3,4,5,6,7,8,9,A,B,C,D,E,FOODO  0X1234, OXABCD
D00 0XO0ODO 0xO00000

12
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/* char.c -- display character code */
#include <stdio.h>

void main(void)
{
char ch;
printf ("Enter a character.\n");
scanf ("%c",&ch) ;
printf ("The character code for %c is %d.\n", ch, ch);

}
O 12: char.c

> gcc char.c

> a.out

Enter a character.

a

The character code for a is 97.

0 13: 000

1 [@a500]

googoobbobbbboodooooooobbbboobooooooobooboobbbad
ODoOO0O009r(ox6) DOODOOOOODDOO

000000000000 0000000000000O0O00O0 ASCITO JISOODOO
O0000000000000000000000000000000000O0O ASCITOO
goooooooo

2.‘char ch; []D[]‘

O0OchOO0O0O ASCIIOOUO0OO0OODODOO0O0ODOOOOOGOon 127(7 bits) D OO
goooogn

3. |scanf ("%c",&ch);

»cO0OOOO0ODODDOOODOOOOODOOOOO

4. ‘printf("The character code for %c is %d.\n", ch, ch);
goodoooooooooooooo

13



% O00chOD0O0OOODOODOODO
4 0O0chO0ODOODO(00)0D00O0O0OODOOODOODOOODOO
O0%d0000 10000000

> [Gaam]

2’00000 1000°0000000000000000
DDDDDDD"abc"DDDDDDDDDDD"DDDDDDDDDDDD

6./0000000000
00000000000 00000000000000000000000000000
00000000000 000000000000"Hello\n"0000 \n 00000
0000000000000000000
\a 000000 \b 00O0OO0OO (0D)
\f 0000 \n OO
\r 0000000 (0O0)

gobooooboboooobboooobobboooonoo

\\ Ooo0DO0000\ \’ oooe
\" 20000 \7? goggr
\ooo 800 (O °\7’) \xhh 1600 (O ’\xD?)

7. ASCIIODDOO

(HEx| o [ 1 [ 2|3 [4[5 |67 [8 ]9 [A[B]|]C[D[E]F|]

0 1 2 3 4 5 6 7 8 9 [ 10 ] 11 | 12 ]| 13 | 14 | 15
0 NUL | SOH | STX | ETX | EOT | ENQ | ACK | BEL | BS | HT | LF | VT | FF | CR | SO | SI
16 | 17 | 18 | 19 | 20 | 21 [ 22 | 23 [ 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31
1 DEL | DC1 | DC2 | DC3 | DC4 | NAK | SYN | ETB | CAN | EM | SUB| EC | FS | GS | RS | US
32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47
2 SP ! " # $ % & ’ ( ) * + , - . /
48 | 49 | 50 | 51 | 52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 | 61 | 62 | 63
3 0 1 2 3 4 5 6 7 8 9 : ; < = > ?
64 | 65 | 66 | 67 | 68 | 69 | 70 | 71 | 72 | 73 | 74 | 75 | 76 | 77 | 78 | 79
4 [ A B c D E F G H I J K L M N 0
80 | 81 | 82 | 83 | 84 | 85 | 86 | 87 | 88 | 89 | 90 | 91 | 92 | 93 | 94 | 95
5 P Q R S T U v W X Y VA [ \ ] B _
96 | 97 | 98 | 99 | 100 | 101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110 | 111
6 ¢ a b c d e f g h i j k 1 m n o
112 | 113 | 114 | 115 | 116 | 117 | 118 | 119 | 120 | 121 | 122 | 123 | 124 | 125 | 126 | 127
7 p q r S t u v W X y z { I } ~ | DEL

0000000 HEXOO 16 00 (hexa-decimalnumber) 0000 1600000 0,1,2,---,9,A,B,C
00000 o000 100000000 0o0oooo BO 11(10|:|)|:]|:]|:]|:] 5C 00 16x5+
12=92(100)0000

14



Y Oooo

0000000000000 0000000D000DO00DO00O000DO00ODO CoOooo
ugbboooooobooonoo

1. while
2. for
3. do while

N0000000000000000000000000000000000000000
0000000000000000000000 a000 1,3,5,7,..000000000000
0000000000000 0000 (000000000000 0)0a000000000
00000000 13000013-1-3-5000000000000000000000 13
0000000000 30000000000
D0000000000|0000[00000.0000000a000000000000
N000000000000000000000

7.1 0000000000000 (whileO)

1 /% menokol.c -- menoko-heiho (while version) */

2 #include <stdio.h>

3 void main(void)

4 A

5 int x;

6 int odd = 1; /* set the first odd number x*/
7 int count = O; /* clear the counter count */
8 printf ("Enter a positive integer.\n");

9 scanf ("%d", &x);

10 printf ("The integral part of the root %d", x);
11 while (x - odd >= 0){

12 X = x - odd;
13 count = count + 1;
14 odd = odd + 2;
15 }
16 printf (" is %d\n", count);
17}
0 14: menokol.c
1. 000000

15



> gcc menokol.c

> a.out

Enter a positive integer.

13

The integral part of the root 13 is 3

0O 15: 000

~J

o U0UO0OwhileOOOUOOUOOUOOODOOOOUOOUOOOcountddoooooon
Joddoodoobdooi1ooooooobo
count = count + 1
o Ul0Dodd00OII0OOO1I0OOUIOOOUOOOOOODODO2000000
O00Oodd = odd + 2
0do0oobodb0OUOscanf 0000000 0OOOx0O0000O00O0O0OOx0OO
O000D0D0000OO000DDO0O0D0Oprintf("The integral part of the root %d", x.
00000D0o0D0000dddddo\n00O0O0DDOOODODDODDODDODOOOODODOOOOd
U000 000printf 00 0O0O0O0OODOOOOODODO
ocxUUOODOOOOOOOOUOOOLOUOODOOOOOx =x -odddOOO

o U0OOOx -odd > 0000000O0O0O0OOO

(@)

int odd = 1; 0O0O0OO0OOOOOOOOO
UOeddDUOUO0ODODOOOOODDOIO0OOO

while (x - odd >= 0){ x = x - odd; count = count + 1; odd = odd + 2; }
whileO D O00O0O0O| while (OO) O O

O0000D000x -o0dd > 0000|000 0000004 Y00O00ODOO0OODO (O
0)00000000o00o000O00O0o00o0ooUoOUDUOoOoOOo

.[ooo]
000000000000000000/00000[0000600

< > <= = == 1= (0000 <,><>=#)

.0000000000:00 (< > <= =000 ( == !=)
00000000000000 (O:pl=g==r0 (p!=q)==r 0000

.0o0oo0o0ooooo (+,-,x00)0000000O0DO0=00000
0 x+y==b O (x+y)==b 000 0x=y==bOx=(y==b) 00 00O

.|ooooooooo]

O0x-yOOx-y; O000000000000000=0000 (00000)0000x=y
O0x+y0OOO0O0OOOOOOOOOO0O000000000000000000000
00000000000000000) (x=y)==b0 x=y=z;
N00000000000000000000000000000000000

16



SEEE]

COO0OD00ODO PascalO Boolean DO D ODODO0OD0OOODOODOODODOODOOOOOO
gobodidodooooboboobdobboooboooOo1b oo bOoo0ooooobboOO
O000x0 000000000 whileOOwhile (x '=0)0000000000O000OO0
O000Owhile( x )OO0O00Owhile(1)) OODDOOOOO0ODOOO0OO

break, goto, returnU U UOOON

7.2 COOOOOOOO:000000A0

while (x - odd >= 0){
X —-= odd;
count++;
odd += 2;

}

016 COO000ODOO0OOOOOODooOgo

1. [x -= odd]
-= += 000000 O00O =00000|00000 (@
x —=odd OUOx = x - odd OOOO

2. | count++

++ —— |U0000000000000O0000O004d
count++ 0 ++count DI O0O0UDO (count) J0D0 100000000 count=count + 1 O
000000 count-- 0 --count 000000 (count) D000 1000
(00)0o0O00oO0o0ooOOoUoOoUoOoOo

3. 00b00o0oboobobooon
count++ U 000000 ODO0O0O0OUOO0O0O0O00O0O0OO++count OO0 OOOO
goboooooobod

00000:00000 (00000)00000 100000000000
00000:00000 (00000)000000100000000000

0)x=1; y=+x; 00000y00200000000 x=1; y=x+; 000001
00000D0000000000x00020

4. (00)nxsn++ 000000+ 0n000000000000O00OO0OOODOOOOOOO
O0O000d200000b0000b0b00o0o0obobooobobooobobooobbooon
Oo00OO00O0OD0ODO0O0000Df(,n++) 0000O0D0ODODOODO20000000000
a
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7.3 0000000000000 (for)

D0000000000000000 (000000000)0000000(fer0000
Doooo

1 /* menoko2.c -- menoko-heiho (for version) */

2 #include <stdio.h>

3 void main(void)

4 A

5 int x;

6 int odd; /* set the first odd number */

7 int count = O; /* clear the counter count */
printf ("Enter a positive integer.\n");
scanf ("%d", &x);

10 printf("The integral part of the root %d", x);

11 for(odd = 1; x - odd >=0; odd += 2){

12 X —-= odd;

13 count++;

14 }

15 printf (" is %d\n", count);

16

O 17: menoko2.c

1. [for(odd = 1; x - odd >=0; odd += 2){ x -= odd; count++; }

for0 JOD0OOOOfor(0DOOO,;, OO, OO) O
000000000000 0000000O00for000000DOOODOOOUDDO (OO
00000000)000000000000000000O0OUDOUDOOOO0

gooboooooon

Udb000Oodd = 1040000 g

(@)

o J000Ox - odd > 0000000
UUOOodd += 20000

o

o O0{ x -= 0dd; count++; }00000 (DOOO)

gdoddodddddddoodddddduddyydyyguuuoobpobooboboa
ool UouLoLooboboa
gobooooboboooobboo

oUUIUUUUUOUOUUoeddbbbOODODforddddodooououog
goobooobobboooooogd
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oforUlodd = 1; 00000000 0OOO0O0O0O0O; J0guuobobooboooobobon
00000000 (00000000O0)edd = 1; 00000000

2 [Gaag]

oddU0UO0O0OforU00UUOOOcount =000000O0Oford0dongoonogg
goboooobooodg,bbboooboboooobobooobobbooooboboooon

for(count = 0,0dd = 1; x - odd >=0; odd += 2){....}

goooboobogooobobobo pboooobobboooobbbooobobboooobooboobog
000000 bobdblcount++Ufor U 0UOO0OO0O0OOOOOOOforddgg
goboooooooooan

for(count = 0, odd = 1; x - odd >=0; x-=odd, count++, odd += 2) ;
goodoooooooooooooooo

godogpooooboooobooboooooobooboooobobooboobobobogon
Oo0oooooooobooooooooooogooooogoooogoobooogoogon
ggoogooogo

for(count = 0, odd = 1; (x -= odd) >=0; odd += 2) count++;

O0000Ox - odd >=0; x-=odd0 000000 (x -=o0dd) >=>0000000000-=
OO0000>=000000000000G -—=o0dd) D00000OCO0ODOOOOODOO
O0000x -=0dd >=00000000000000000000 10 (count++) 00004 }
goboboooooon

3. for(0O0ODO,; OO, OD0)ODOOOOOODOODOOOOUODODOOOOOOODOO
000000000, 000000000O0for(;;)000000O0DOODOO

gobgoogd
1. 000 (0000000000 o0oUoooUooUoooon)

2.000000
OO0(()|[>|+ -+ -——(00000)|>|*/% |>[+ -]
>[K><==> |>[==1= [p[=*= /= Y= += -= > 00
3.000

000 00 (0o)oooo
000 00001000000
000 =0000000000
0000 0000000

19



74 0000000000000 (do whileO)

—

/* menoko3.c -- menoko-heiho (do-while version) */
#include <stdio.h>

N

3 void main(void){

int x;
5 int odd=1; /* set the first odd number */
6 int count=0; /* clear the counter count */
7 printf ("Enter a positive integer.\n");

8 scanf ("%d", &x);
9 printf("The integral part of the root %d", x);

10 do {

11 x -= odd;

12 ++count;

13 odd += 2;

14 } while (x >=0);

15 --count;

16 printf (" is %d\n", count);
17}

O 18: menoko3.c

1. |do O while (O00O)
00000000000000000000 (000000000000 0)000000
00000000000 0000000000000 10000000000

2. 000000000000
o ++count [ count++
(D[][][JD ooooond D)l][][] ++count DD count++ 0000 0O0OO0O

o0J0OUOO0OODOUOxUUDODbOUOODOOODDOUOUODDOUOODODOO1IDOO
O0000count000 1000000000O00 15000--count00 00000
ggono

3. 00000D000ooD

o COUDOUDOOUDOUODOOODOD (PascdlDODODOO (DODOD)OOOO).

o++count U UOUOUOOOOOOOOOOOOOOOOOOONONO
0 ++count x=1 printf ("hello\n")
O ++count; x=1; printf ("hello\n");

o J0ODO{ }ODOD}YODODODODOUODODOODODODOODO

20



do do {
++count; ++count; printf("x");
while (count < 10); } while(count < 10);

21



8 0U0:0000000000Uoobbbbbbog

1 /* mean.c -- mean and standard deviation */
#include <stdio.h>
#include <math.h>

4 void main(void)

5 {

6 int n=0;

7 float x;

8 float mean, sd;

9 float sum=0, square=0;

10 printf ("Enter floating point data. \n");

11 printf ("Enter q to finish the input. \n");

12 while (scanf("%f",&x)==1){

13 sum += X;

14 square += X*X;

15 ++n;

16 +

17 mean = sum/n;

18 sd = sqrt( (double) ((square - sum*mean)/(n-1)));
19 printf ("The number of data read is %d.\n", n);
20 printf ("The mean value and the standard deviation of those data");
21 printf(" are\n 7%10.2e and %10.2e.\n", mean, sd);
22 }

O 19: mean.c

> gcc mean.c -1m
> a.out

Enter floating point data.

Enter q to finish the input.

3.14 9.81 273.15 8.31 22.41 q

The number of data read is 5.

The mean value and the standard deviation of those data are
6.34e+01 and 1.17e+02.

0 20: 000

22



ot

. NOODOOD (rp)) 0D0D0OD0ODO0OOO

00 S=%z,000 z=5/NOOODO =,/(S2? — S7)/(N - 1)

.goddddddoddoooddddggUuuL0LUllllUUUUUUU 4

googooboboboobboodooooduuooobboboooodgboooog
goooogn

UdobbodddbUOscanf OO0 DOxOO0D0DO0O0O0OO0ODOO0OOOOssum += x; O
square += x*xx; UUO0OO0OO0OO0OOOOOOOOOOOOOO0OO000n++0O000O0OO
goood

00o0obO0boO00db0sum, square, n OO0 O0OO0OOOOOODOOO

) ‘while (scanf("%f",&x)==1)‘

O0Owhile J0OOOO0O0O0O000000000000000000000000
D00000000000000q000000q00000000000000000%¢
000000scanf 00qO00000000000000000000000scanf 00
0000 (0000)00000000(00)00000000000000& 0000
000000000 (000000)000scanf 00 0000000000000000
0000 (0000000000)0000010000 (0000000[000[p00)o

|

0000000000000 EOF(End Of File)(CTRL-D, MS-DOS 0O O CTRL-Z) 0000
0000000 EOFO000000Oscanf 00000000stdio.hD

#define J0OEOF(0 00 -1)0000000000000000000000000O0
000000000000000000000 while (scanf ("%£",&x) !=EQF)

0000 (cast)J0O00OO0OODOO
sd = sqrt( (double) ((square - sum*mean)/(n-1)));

U0Osqrt 00 00double D0 OOUOODOOOO0ODOMOsquare, sum, mean U U U0 float
OO0O0000O (square - sum*mean)/(n-1) 000000

float 000 O0O0OOO0ODOOOODODO (double) DODOOOOODOOOODODOOODOD
UUOdoubleJOOOOOU

O000D%10.2e
ke0OOO010.20000000000000000D 10000000DOODOOO 20
Oob0oooonoood: 1.17e+02

goggoggogd
charUshort U0 UOOOO0OOOO0OODUOOiInt 0000000 DOO0ONODO unsigned int
Oopbooog

gboooooootoototoouooooooooooooooouoooyooa (promotion)
gooo

00O | long double | > | double | > | float >|unsinged long|>|long|>|unsigned int|>[|[|
gbobooootootooooooooooooooooooooooooooooooon
dobodooboooooooouoooouooooooo

goooooooobbbbbbbobbobooooooo
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9

go:00gogd
ooboboooobobooobboooooog
1. 0000000000000000000D f(r)UDO<Lz<lOOOUOOUOOOOO

2o = 0,21 = 0.01,2, = 0.02,--- 00000 z00000000000000 f(z)000
00000 (z, f(x;)) 0000000000 f(x)000000000000

2.000000000000O0O0xgreaph00 00000000 O0ODO0ObDOOOODODOD
goboooobobboooobbuooobobboooobobooon

3. 0000000000000y = f(»)00OD0O0 2,y 0000000000OOOOO
OO0D0000D0Oxgraph OO0 0O00O0OOO0OOODOOODO 210000000

graph.cO00O0O0O0O00O0O0O 220000000000 xgraphODOO0O0OOOOODO

W NN e

© 00 N O O

10
11
12
13

/* graph.c -- drawing a graph for sin function */
#include <stdio.h>

#include <math.h>

#define PI 3.1415926

void main(void)
{
double x = 0.0;
while (x < 2*PI)
{
printf("%e %e\n", x, sin(x));
x += 0.1;

3

0 21: graph.c

> gcc graph.c —1m
> a.out | xgraph uoboobooooboooobooonDn
>

0 22: graph.c 0000

24



10 0000 (ifo0 ifelsed)

goooooboooobobbbbbbooooooouuuooboobbibibibitdswiteh
ugboboodooboooobbooobobobuoooboboboooobobood

—

/* ifl.c -- an odd number? x*/

2 #include <stdio.h>

3 void main(void)

4 A

5 int a;

printf ("Enter a number: ");

scanf ("%d", &a);
if ( (a%2) == 1) printf("0dd number\n");

© 00 N O

0 23: ifl.c

1. |if ¢ (a%2) == 1) printf("0dd number"); if0O
000 ((@%2) == )00 (000)0000 ( printf("0dd number");) 0000000
Ooo0ooboooooooooo{}0oo0o0o0ooo(oo)oooo

—

/* if2.c —-- odd or even? */

2 #include <stdio.h>

3 void main(void)

4 A

5 int a;

printf ("Enter a number: ");
scanf ("%d", &a);

if ( (a%2) == 1) printf("0dd number\n");
else printf("Even number\n");

© 00 N O

0O 24: if2.c

if else [

1. |if ( (a%2) == 1) printf("0dd number\n"); else printf("Even number\n");
if (00) 0 elsedy

25



0000 (00)00DO00,0000000000O0D ;000000

if0o0oo0

1.if00000: if000004if else0 000000 0O0OO0DO0O0ODOif0O0O1f elsel
goodooooooo

2. elseJ00000DOODOO0ODODOifODODOO0ODODO

0) if (P) if (Q) x; else y;

if (P) if (P) if (P) {
if (@ x; if (@ x; if (@ x;}
else y; else y; else y;

0000000000000 00|000 (indentation) (DOOODOO0OO0ODOOOD)O
gooobod

OO0O0000000DOO00DO0004if (@ x;, O{00000000OelseddnOnOit
O0O0000}yooooOooooooooo

3.|j0000o0
O00 if (x> 0) y=x; elsey=-x; Uy=(x>0) ?x: -x; 000000
0000000000000000000000000|0,70 4:0 3‘D oo000,00

00 (00)0000 ,00000000000DO00O0 30000007 @ OD|D0ODOOODO

gdd

11 0O0:20000000

else-if 0000 DODOOOOOOOOO0OO0OOOOOODOO

if (P) a

else if (Q) b;
else if (R) c;
else if (S) 4;
else e;

0200200000000000000000000"if(det ==0)"0000if000
gogooouobooobbobbbbbbboboogdtdfabs0oooooon
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10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29

/* quadl.c -- quadratic equation */

#include <stdio.h>
#include <math.h>

void main(void)

{

int a, b, c;
int det;
float d;

printf ("Enter the three coefficients");
printf("of a quadratic equation.\n");
scanf ("%d %d %d", &a, &b, &c);
if (a !'= 0){
det = b*b - 4x*xaxc;
if( det == 0)
printf("This equation has one real root: %10.2f.\n",
-b/(2.0%a)) ;
else if(det > 0){
d = sqrt((double)det);
printf ("This equation has two real roots:");
printf ("%10.2f and %10.2f.\n",
(-b+d)/(2.0%a), (-b-d)/(2.0%a));
} else if(det < 0){
d = sqrt(fabs((double)det));
printf ("This equation has two complex roots.\n");
printf ("The real part is %10.2f ",-b/(2.0%a));
printf("and the imaginary part is %10.2f.\n ",d/(2.0%a));

0 25: quadl.c
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12 00:0000000000000

O0000 UnixOweODOODOODODODOOOODOODOODODOODODOODOOODODO
ugoooobboooooooboboobbotboooooobobobboooooobobbboboooa
0000000000000000 (D000)00U000000O0O0O0000000 a.out <
winner. txt 00 0000000000000 D0O0OO00O0O0UOOODOOOODOOOO (OO

ooo)g

1 /% wc.c -- word count */

2 #include <stdio.h>

3 #include <ctype.h>

4 #define YES 1

5 #define NO O

6 void main(void)

7 A

8 int c;

9 long chars = 0;

10 int lines = O;

11 int words = O;

12 int inWord = NO;

13 while( (c=getchar()) != EOF ) {
14 ++chars;

15 if (isspace(c)){

16 inWord = NO;

17 if( ¢ == ’\n’) ++lines;

18 }

19 else if (inWord == N0O){
20 inWord = YES;
21 ++words;
22 +
23 }
24 printf ("The number of characters, words, and lines are ");
25 printf("%1ld, %d, and %d.\n", chars, words, lines);
26}

O 26: wc.c

uoboboodbobobooobbooobobobooobbooonoo

1.

while( (c=getchar()) != EQOF )

o [getchar() OO

28



> gcc wc.c
> a.out < winner.txt (D0DO0000oooDbOoO <goooo)
The number of characters, words, and lines are 543, 103, and 17.

027000

OOgetcharO 000000 (DO0DO0OO0OD0OOOOO0DOOOOOODOOOOOODO
0)00 1000000000000 100000000Oputchar(c) D000

o EOF
udooobobobbboboooobobbbbbibodddUduUddn getchar O EOF U
O000000EOFOUOOOO0OOOOOstido.h O —1000000O00O00OOOOO

o c=getchar()
getchar 00000000000 cOint0000Ogetchar) 00 O00O0O0O0ODO
O000O0Ochar 00 O0000O0OO0OODOcharOOOO 00O 250000000
O00OD0O0OO0OO0O0OD0EOF(-1) 0000000000 4int00OO0DOODO

2. |++chars

O000000000 charsOOOODDOO0ODDOOODO0OD 100000DO0ODOO
0000 (+1)00000000000000OcharJ1long0000O0O0OOEOFOOOO
goooooooooooobbbbbbn

3.| if( ¢ == ’\n’) ++lines;
000000000000000000? 000000000000 (00000)000
000O0°\n’ 00000 (0000)0000000getchar000000000000
O0’\n’ 000000000000000000000000000000000 lines
00000000000000O0\»’ 00000000000000000

4. 000000O0O0OOO0ODOOOODODObOOObOOoD

o 000000000 UOOUOOUOOU (DUDODUOOUOOUO)ODOOO
goddbobbbtboooooooobobbobbbboooooobobobobobooooago
gobobobooodoobibbibwerdsU U0 oooobbboooobobobooaog
uogoboooaon
O0000odooooo? Joood0ooOOo0ooO0O0ooOOoooboDoOooooooDoooo
ggono

As the rose is the flower of flowers, so is the
house of houses.

0000000000000 0D00 1000000 theD 2000 houseODODOODO
udooobobooodoooooooboboobobbboooooobooobobbuoooaad
(00)o0DDO0DO0OoO0OoOOOo
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oDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDE@M’HD

0000000|isspace(c) 00 0000000000000 00DO0O000000 (1)0
00000000 (0)0000000000000000000000000

if (isspace(c)) <= if (c==" ’|lc=="\n’|lc=="\t’)
00011 00000000000 (OR)000000000000000000&
000D0!0000

O00°\t’000 (tab, CTIRL-1) U0 0000000000 OOOOOOOOOOO
ggoooooooobbbbboooooooooa

o UlOOisspace0 00 U0O0O0OOMOisalphalisdigit 000000 oonooogd
OOctype.hO00OOO0OOOOO

ObobooobbooobbgbbinWworddU0O0OUOOODOOOOO0OO0OO0OOOOODOOUOYES

0000000000ONOD0DODODO000OU00OU0DOU0D0D0000000 (isspace

00000)00000000000000000000000inWordONOOOOOOOO

0000000000000 (isspace00)00000O0inWord000OONODODOO
The winner is always a part of the answer.\n

inWord: NYYYNYYYYYYNNYYNYYYYYYNYNYYYYNYYNYYYNYYYYYYYN

words: 011112222222233344444445566666777888899999999

O0inWord 0D OOOOOOOOOODO (YES/NO)ODOODOUOOODOOO|OOO (fag)|O

oogd

D. printfl]‘l]l]l]l] ld001long int 00 O0OO0OO0DOOOODOO

13 switchOODOOODOOO

DDDDDDDDDDifDDDDDDDDDDDDDDDDDDDDDDDDD

O0000DODODODOOO0O"if (isspace(c))"00O0O00O0O0O0O00O0 28000000 switchO
ggooooooono

1. 0000000OOswitch(c) O0case0000DO0D0OO0ODO (DO0D)0cO0D0ODOO
ool uyuoooobnooboboag
goboooooobooboogd:-b0ooan

switchUuooooooooooon

switch (O) {
case UG : O ... O
case 4o : 0o .. 0O
default: O ... [
}

2DcmeDDDDDDDDDDE@E&!DDDDDDDDDD&m&DDDDDDsmmh
00000000000 Obreak 0000000 case 0000000000000 OOO

O00000Ocase ? ?:00000000000000O000000000O00O00003
O000000DOcase ’\t’: 00000000000 O0DOOOOODOOOOOOO
case ’ ’: Dbreak; 000

30



switch(c) {
case ’\n’:
inWord = NO;
++lines;
break;
case ’ ’:
case ’\t’:
inWord = NO;
break;
default:
if (inWord == NO){
inWord = YES;
++words;
}
break;

}

O 28: switch OO

3. 0000000000000 0O0defavltd 00D Odefavlt: D00 oQon
goood

4. 000O0O0OcasedO000default 000000 Obreak D0 00O OO0OOODOOODOODO
goo
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14 00O

UdU00O0Omain oo oooouoobbbooooobbbbboooooobn
ugboboodooobooobboooobobuoooboboboooobobood

14.1 0O0O0O0OO

1. 020200000000000000000D0D00DOOOODOODO 29000000
O00quadO0O 30000a, b, cOOOO

2.[DDDDDDDDO]|
00000000000 00000000000000000000000000000
000000000000000000 (00000)0000000000000000
0000000|00000000[p00o

quad 000000000 DOOO0OODOOODOQO void quad(int a, int b, int c¢); O
000 void 00D quad 000000000000000000000[0000C
00O

;. [Gaaa]

guodbbobbtboooooobobbbooooooubbbguadd oo

googoogo

00000 000 (00100 00001, 000200 00002, .., 000a00 0000 )
{

00 .00 0oooo

0 .. 0

}

4. /0000000000
O000000Oquad00Omain000000Oquad(a, b, ¢); 000000O0O0OOOODO
00000000000 00000000U0 (Do0)o0oUooOoUooOoOoUooo
00000 (D00D00D000scanf 0000000000 scanf("&d", &) 00000
OOscanf("&d", &a)==10000000000000000OO0O0OO) DO00OO0OOO
godoooooooooobbobbbbn

00000000 Pascal DO0DOODO0OO0OODOODOODOOOquad(a, b, c);0a, b, ¢
00 (000)0Ovoid quad(int a, int b, int ¢) Ua, b, ¢(000) 0000000

goodoooooooobbbbbbboboooooooooooobooobobbobbobo

gboboooooboboooobobod

5. /0000000
0000004 y000000000000000000000000000000 (00
OO0Odet, ) J0000000000000000 (‘000007 000)000000
0000000000000 000000000000000000000000000
0000000 (scope) 0000000000000 O0000000000000000C
00000000000 0main00000a,b,c00quadd00a,b,c0000000
000
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34
35

/* quad2.c -- quadratic equaiton (function version) */
#include <stdio.h>
#include <math.h>

void quad(int a, int b, int c);

void main(void)

{

int a,b,c;

printf ("Enter the three coefficients");
printf("of a quadratic equation.\n");
scanf ("%d %d %d", &a, &b, &c);
if (a !'= 0)
quad(a, b, c);
else
printf ("The value of an a must not be zero.\n");

void quad(int a, int b, int c)

{

int det;
float d;

det = b*xb - 4xa*c;
if( det == 0)
printf ("This equation has one real root: %10.2f.\n",
-b/(2.0%a)) ;
else if(det > 0){
d = sqrt((double)det);
printf ("This equation has two real roots:");
printf ("%10.2f and %10.2f.\n",
(-b+d)/(2.0%a), (-b-d)/(2.0%a));
} else if(det < 0){
d = sqrt(fabs((double)det));
printf ("This equation has two complex roots.\n");
printf ("The real part is %10.2f ",-b/(2.0%a));
printf("and the imaginary part is %10.2f.\n ",d/(2.0%a));

0 29: quad2.c

14.2 00O0O0ODOO

goddboddooooooooooduggobobobbooobboobbobbn

00000000000000 20000 ,b000000 (GCD, greatest common divider)



0000000000000 e>b0000a,b00000000¢—000b00000000
Udd z,y0ooooooogn (x,y)[J[}[]D 0
(24,18) = (18,24 — 18) = (18,6) = (18 — 6,6) = (12,6) = (12— 6,6) = (6,6) = 6

Oobo0oo0obgooD 300000

© 00 N O O b

10

12
13
14
15

16
17
18
19
20
21
22
23
24
25

/* gcd.c -- greatest common divisor */
#include <stdio.h>

int gcd(int a, int b);

void main(void)
{
int %, y, Zz;
int gcd(int, int);
printf ("Enter two non-zero integers.\n");
scanf ("%d %d", &x, &y);
if(x>0&& y > 0){
z = gcd(x, y);
printf ("The GCD of %d and %d is %d\n", x, y, 2z);}
else
printf("Both x and y must be positive.\n");
}

int gcd(int a, int b)
{
while (a != b){
if (a > b)
a —= b;
else
b -= a;
}
return a;

}
0 30: ged.c

1. |int gcd(int a, int b);
U00d0int0000000000iInt 0000000 ged OO0 oonooon
godooooooooooooooodooodgn
int gcd(int, int);

2. /7000 int gcd(int, int);
oo ouoboobobobooooooooooooooouoooogon
O00oo0o0oooooooooooon

3.1if(x>0&& y >0) &UOIOOODO
& U000 (AND)ODOOoooooollooooo!

1. (roturn o]
O0ged 000000000000000000000|return0 0000000000

34




> gcc ged.c

> a.out

Enter two non-zero integers.
24 18

The GCD of 24 and 18 is 6

>

0 31: 000

gbbgdguobgdboobbobbobbitdadbooboobbobobbobobn
0000 (veid0d)OO0OO0OOreturn; 0000000000000 (O0:0 29000quad)d

5ﬂDDDDDDDDD
3000/00000000[0000000000000000000000000000

oooooO|bobojbooboboooboobobooobuoobooo

6. /000000

O0D00D000000ged0 00000z =ged(x, y); 000000000O0O0O00O0OO
bbboddUdgedDOUOOOoOoOooon

00000000000000000000ged(a,b) 000000000000 000
DDDDDDDDDDDDDDDDDDDD

DDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDD
00000000000 00000000000000000000000000000
00000000 int=1long O|000 (promotion) |0 00000 float Udouble 00O
oooo
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10
11

12
13
14
15
16
17

/* negl.c change the sign of an integer*/
/* THIS PROGRAM IS WRONG!! x/
#include <stdio.h>

void negl(int);
void main(void)

{

int a=19;

printf("Initially, a = %d\n", a);
negli(a);
printf ("After negl, a = %d\n", a);

3

void negl(int x)
{
printf("In negl, initially, x

%d\n", x);

X = -X;

printf("In negl, finally, x = %d\n", x);

}
O 32: negl.c

> gcc negl.c

> a.out

Initially, a = 19

In negl, initially, x =
In negl, finally, X
After negl, a = 19

>

19
-19

<-- 0K
<-- NG

0 33: 000

O0negl 00 3200000000000 330000000000 0O0D0ODODOODOUOONOOneg1

ugbobbooooboboodobobobuooobobbooobbboooobboooboboboOoa
Udx00O0O0O0OOObObObOOOOoo0o0o0gg x = -x;
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gooogbbibxgdobiogd-1900dbddouibibibiidlnegi 00000000
Umain 00 000000x0O0O0O019000000000

0000000000 3d0neg2000000000DOOOODOOO

1 /* neg2.c change the sign of an integerx/
2 #include <stdio.h>
3 void neg2(int *x);
4 void main(void)
5 {
6 int a=19;
7 printf("Initially, a = %d\n", a);
8 neg2(&a) ;
9 printf ("After neg2, a = %d\n", a);
10 }
11 void neg2(int *x)
12 {
13 printf("In neg2, initially, x = %d\n", x);
14 *¥X = —%X;
15 printf("In neg2, finally, x = %d\n", x);
16 1}
O 34: neg2.c
> gcc neg2.c
> a.out
Initially, a = 19
In neg2, initially, x = -268437052 <--7
In neg2, finally, X = —268437052 <-- 7
After neg2, a = -19 <-- 0K
>
O 35: 000

negl Uneg2 DU UUOOOOOOODOOOOOODOUO

D00 (0DD0D0)

O

000000 (0ooo0)

ugoooobodoooooobobobobbodooooooobobboooouooboobooboboooa
goobooobobboooboboon
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gl uouuoLoUuuUuuo g
000200 100000000 1000DO00DO0O0DO0ODO|IDODO0DDDOODOO0
gUOO00ObO0O 200800000 obooog8ubbooloboobobobOo1Iooobobn
D000 2000o0000000000111111110 100000000 000 2550000000
gooooan

2 [ag]

O00O00o0o0b0o0o0obobo0oboo 10obboo0obb0ooobDoUoooDboooD
0000000000000 000000O00UO0O0 (1000000 oOoD)00O0OOO
goo

ooooooooooool,2l,.00000000000000|000O0 (ODO0)|00O
gooboooboooboooboooobboobbooboboobbboobbo
O00000000000000Ml 000000000000

8 bit

o [ [ B [ [56] [6  [100000000]

3. 0000000000000000000000000000000000000000
000000000000 D0|000000|0000000char0000c¢000100
00 (1000)00000000°’ 00000 (00000)000000000int0
000a0004000 (000000002 000000000000000000 (0
N00000000000000000000000000Osizeocf 0100000000
0ooo)

C a

Ls |
[319] [320][321] [322] [323] [324] [325]

aes0 || | ]

4. 0000000000 0O0ODOOO0OO0ODOODODOO0ODODObDabOO0O0 a+t1.200
DDDDDD”&”DDDDDDDDDDDDDDDDDD‘DDDDDDD& DDDDDD

0000020000000000200(0000/00000
5. 000

000000000 0negt 00a0000000neg200a0000000000000
000negl 0000000000000 0000000DOnegl(a) 0000000000
Da000000negl 0000x0000000000000000000(000p00C0
000x0000000000000int 0000000000

UO0Onegl0DD0O0O0O0O00x = -x; 00000O0x000000000000000O00O
UO0b00DaU0000000bbbO0dobbuodxbboooobbotdabbbooonoo
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negl(a); | |
void negl(int x) [308] [560]
a X
| |
X =-X -19
[308] [560]

0O 36: negl000OOOOO

a X
neg2(&a); | |
[308]
void neg2(int *x) [308] [560]

jo}]
x

X=X -19 [308]
[308] [560]

0 37:neg20 0000000 (DODO)DOO

6. D000 (DoOO0oO)0Q
abgoboboobdbadboobooboboobobbobboobooboon
U0neg200 000

D00000000x00int00000000000000int000000000 (&a)
D0000000x000int00000000000int0000000000000 (int
D00000000)000000000000000000000004int *x|0000
000000

O0int »x00000000xx(00000000x0000000000O0OO0OOOO
0)0int000000000x00int0000 (x)0000000000O0OOOOOO
goodggo

7.neg20000000D00OO0Ox0000a000D00D00D0ODODOOx00D00ODOO0Da
gobboooobbtbooobboooobbooobbodxxgooog
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0d

*xJ00 (D0000)0000000000x000000D0O0O0OD0OO0Ox00O0O0OO
0000000000000 (D0U00a00)0000000000O000O0*x =00
000000000000 000000x0000000 (D0000a)00000000Uneg2
UO0000xx = —xx; DUOUO0O0O00a0000O0O0O0O0DOO0O0O0ODOO00

.neg20 0000000000000 ODDOOUDOOOD (DODOUDOO)D%WOOODDOOOOO

-2684370520 00000000000 DOD0O0ODODOOO0DDODO0ODOODUOODODDOODbDOO
O0000000000000O00oDO0Doooooo0dooooO%p0ooonod
oo

cOo00dDOO00DOoU0DO00OOoU0DO0OO0O0OOODOOODOUODOOOoOOoOoOOOCo
ugooooboobooobobobbbbobodgdxpooboboboboobddoooooaa
gooobooboooooooobobbobbtbooob bbb obobobbuooo
ugoboboodobboooboboooooo..
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16 UO0O:0000

gobgoguobuooobuooobboobbooboboboobboobboobbuoooon
ugboboddibx, yOoooobooobobooooobood

t = x;
X =Y,
y =t;

O000000OD0swapl OO 30000000000 ODOOODO0ODOOnegt 00D OOOODO
gboooobuoobobooob 9uboooon

1 /% swapl.c swap values of two variables */
/* THIS PROGRAM IS WRONG!! */
3 #include <stdio.h>

4 void swapl(int, int);
5 void main(void)

6 {
7 int a=19, b=39;

8 printf("Initially, a="%d and b = %d.\n", a, b);
9 swapl(a, b);
10 printf ("After swapl, a = %d and b = %d.\n", a, b);
11}
12 void swapl(int x, int y)
13 {
14 int t;
15 t = x;
16 =Y
17 y = t;
18 }
O 38: swapl.c
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© 0 N

10

11
12
13
14
15
16
17

/* swap2.c  swap values of two parameters */

#include <stdio.h>
void swap2(int *, int *);
void main(void)

{
int a=19, b=39;

%d and b

printf("Initially, a

swap2(&a, &b);

printf ("After swap2, a = %d and b
}

void swap2(int *x, int *y)

{
int t;
t = *x;
*xx = *y;
*y:t;
}

0 39:

%d.\n", a, b);

%d.\n", a, b);

swap2.c
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17 0000000

17.1 0OO0OO0OO
0000000 (00)000 290 20000000000000000

void main(void)

{
int a,b,c;
ag
scanf ("%d %d %d", &a, &b, &c);
if (a '=0)
quad(a, b, c);
else
printf ("The value of an a must not be zero.\n");
}
void quad(int a, int b, int c)
{
int det;
float d;

det = b*b - 4x*xaxc;
00O
}

0000000 quad00004 }00000|0000/000000000000000000
000 (000O0Odet, ) 0000000000000 0000 (000000000)000
0000000000000 00000000000000000000000000000
(000O0D0a, b, ¢)000000000000000000000000000000000
0000000000/0000 (scope) D000

0000000000000 000000000000000000000000mnain 0
0000a,b,c00quad000a,b,c0000000000

17.2 0000

ugbobbooooboboodobobobuooobobbooobbboooobboooboboboOoa
0000000000000 0000000O0DO00D0D00DO00D0OD000D0Oinc() OdecO)
O000000incOO0OO00x0001000000decOUD0OOODOODOOODOOODOOOOO
goboboooobobooooo

void main(void){
O

void inc(void){
++x -

b
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void dec(void){
—x

}

000000 0x0000000o0oO00oooooo?0o000o0ooOo0ooooooonOod

RN

void main(void){
U

void inc(void)A{
int x;
++x
}
void dec(void){
int x;
——x :

}

gobibxbbooobbuoooobooobobboooobbooobobbooobbuoooa
O0000000incO) O++x0000x00000000O0decOO0OOxO0OOODOODOO
ggono

O0incO 0OdecOO0x000D000OD0DO0OODOOODOOODOODDOODOODOODO
ugbbboodobbDOmindOOoooooooOoOoad

#include <stdio.h>

int x=0;

voind main(void){

void inc(void){
++X ;

I

void dec(void){
—x

}

000000000000000000(000000000000000000000000
(0000000000000 0000000000000000)0000000000000
000000000000000000

N0000000000000 400000
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/* counterl.c */
#include <stdio.h>
void inc(void);
void dec(void);

a b W NN -

void main(void);
6 1int x=0;

7 void main(void){

8 char c;

9 while(1) { /* infinite loop */
10 scanf ("%c", &c);

11 switch (c){

12 case ’i’: inc(); break;

13 case ’d’: dec(); break;

14 case ’q’: break;

15 }

16 printf ("counter = %d\n", x);

17 if (c == ’q’) break; /* exit while loop */
18 }

19 }

20 void inc(void){
21 ++x

22 }

23 void dec(void){
24 --X ;

25 }

O 40: counterl.c

18 00000

dodoooouoooouoooooooououooooooboboboobbobbobboboobon
gobobobbtbooooooobbbobbtboooobobbobooooooobobDbboouUoo
uogbobooooood

void main(void) {
int x;
x = exp20);
printf ("%i",x);
}

int exp2(void) {
45



int ¢ = 2;
C = C*cC;
return c;

}

exp2(void) U0 2000000000c00000O0 (4)0000D0O0ODODOOODOOO
O00x00040000000exp20 2000000000000000ODO0OOO?Y

void main(void) {
int x;

exp2(Q) ;

exp2();
printf ("%i",x);

}

int exp2(void) {

X

X

int ¢ = 2;
C=C*cC;
return c;

¥

O000exp20 0 20000000000c000exp2() 00000000000000000
2000exp2() DO0ODDODOOD 1600000000?20000000000exp20) 00
0000000cO020000000000exp2() 02000400000 0exp20) 0000
000000000 0exp20) 000 40000

000000cO000exp2() 0000000000 000000Dexp2() 0000000
00000000000000000000000000000c¢Oexp2) 00000000
000000000000000000000000000000000000000{00000
000

0000000000000 0000000000000000000000000000
0000000000000 000000000[static00000000000000000
0000000000

void main(void) {
int x;

exp2(Q);

exp2();
printf ("%i",x);

}

int exp2(void) {

X

X

static int ¢ = 2;
C=C*cC;
return c;

3

00000000000 cODODOUOexp20000D0ODOODOODOODOODODODOODOO
02000exp2() 000000000 cOO00OOOODOOOODOODUODODUODODOODOODOO
000400000000 2000exp20)0 0160000 (0000Oc =2000000000

oooOoOoCoOooO)0ooooooOoOOOOOCCOOO|D00OpOoOoo
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041 0000000000000O0DO0O0DODODO0O0O0DODO0D0O0cO0DDbDDbOODbODD 10
gogodd

/* counter2.c */
#include <stdio.h>
int count(void);

S W NN -

void main(void);

void main(void){

char c;

while(1) { /* infinite loop */
scanf ("%c", &c);
switch (c){

10 case ’c’: printf("%d\n",count()); break;

11 case ’q’: break;

12 }

13 if (c == ’q’) break; /* exit while loop */

14 }

15 }

© 0 N O O

16 int count(void){
17 static int c=0;
18 return ++c;

19 }

O 41: counter2.c

ugooboooobobooobobobuooobobbooobbboooobboooboboboOoa
gobjggog pooooboobuooboboobb bbb obboobboa
ggbbobboooouobobbuoooobobboooobobbboooobobobbooooon
ugbobboooobobdoooboobooobobbooooboboooobooboog

18.1 0O0O0O0ODODOOOO

ggogoobbbbuooodooooouobbbbooboooooouobobob|joooog po

ggooooooooobobbbbbbbbooboooooouogog

1. |[0oooooo|
00 (0000)000000000000000000000000000000000
000000000000000000000
0000: 00000000000000000: 000000000 0000 (0000
00)0
0000000000000 000000000000000000000000000
N0000000000000000000
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2./[0DDDOOD
Odddododooodooooooooooooooooooooooooouooogo
goddooodooodooodooodooooooooooooooooooogon
staticO00OO0O0Ostatic int x; 00000000 (00000000 O0O)O
0) int counter(){static int c¢=0; return c++;} Dcount() OO0 O0O0O0O00OO
0,1,2,3,400000000

3. /0000000

goggoooooooooobbbbbbbbbboooooooooooooooo
godd: bbooboooogdg:-bbobbbbooon
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19 000O0O0oon

19.1 0O0O0OO0OOOO

000000 (floatOdouble) 00 DD DD OO0O0O00O 0.1234567--- x 102000000
0 (0.1234567) 0000 (10)00000000000000200000000000000
0000000000000 000000000000000000000000000000
0000000000000 000000000000000000000000000000
000000000000000000

0000000000000000 10000000000000 1.0x10'0 1.0x1071°0
00000 1.0000000001x10' 0000000000 1100000 1100000000000
0000000000 1.000000000000000000000 (00)0

0000 1.00000000 0000000 1.0=(1.0+¢)000000 0000000
0000004200000000double 0000000000000 O0O0O0O0O0O0O0DOOOO
000000000e000 10000 1/20000000000 (200000)01.0 == (1.0+e)
00000e0000O0O0DOOODO while (1(1.0+e==1.0)); 0!'00000000O0
%4 \n", sizeof e); 0000e0000000D0ODODO (sizeof e)l

printf("Size of e
0ooooooo
0430 000000000000douwble00 8000000000 DO0ODOOOOOOO
0000 107000000000
O00float00O0O0D0O0DO0O 440 450 000float00040000000000000
000000000 1077"0000000000000fleat000 80000000 DOOOO
Odouble 00 170000000000000O00ODO
0000000000000000000000000000000floatdOdoubledO
00000000000000O00double0000000000000000000O000O0O0
0000000000000000000000000000000000000000000
O00Odouble 0000000 O0O0OOOOOOOOOOOOOOOOOODOODOODOODOO
0000 4000000000 (fleat) 0000000000 DOO0ODOOOOODOOOOOO
OOdouble 00 O0ODOOOOOOOO

19.2 0000

ddddddoooouououooooooooobbboobobobbboooobbobobbbbon
gbooboobooobooboboobuoobbooboboobuoobooboobDboob 20
go0obo0oo0obooooobobbo0 vgooobbooooboboooboboooobobOoo
ggooog

0000 1/200 1/3000 200000000000000046000000000000
O00OO0bOOo0obO0obOoboo4700b00bO0O0OO0ObDObObOOobDODO
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/* deps.c Machine Epsilon */
#include <stdio.h>

void main(void)

{
double e=1.0, e0;

printf("Size of e = %d \n", sizeof e);

do {
el = e;
e = ¢e/2.0;
printf ("%.40e\n", e);
} while (1 (1.0 + e == 1.0));
e =1.0 + e0;
printf ("Machine Eps = %.40e\n", e-1.0);

0 42: deps.c

> gcc deps.c
> a.out
Size of e = 8
.0000000000000000000000000000000000000000e-01
.5000000000000000000000000000000000000000e-01
.2500000000000000000000000000000000000000e-01
.2500000000000000000000000000000000000000e-02
.1250000000000000000000000000000000000000e-02
.5625000000000000000000000000000000000000e-02
.8125000000000000000000000000000000000000e-03
.9062500000000000000000000000000000000000e-03
aad
.8817841970012523233890533447265625000000e-16
.4408920985006261616945266723632812500000e-16
.2204460492503130808472633361816406250000e-16
.1102230246251565404236316680908203125000e-16
Machine Eps = 2.2204460492503130808472633361816406250000e-16
>

W NP WO =, NO

= N

0 43: 000
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/* feps.c Machine Epsilon */
#include <stdio.h>

void main(void)

{
float e=1.0, e0;

printf("Size of e = %d \n", sizeof e);

do {
el = e;
e = e/(float)2.0;
printf ("%.40e\n", e);
} while (!'((float)1.0 + e == (float)1.0));
e = (float)1.0 + e0;
printf ("Machine Eps = %.40e\n", e-1.0);

O 44: feps.c

> gcc feps.c
> a.out
Size of e = 4
.0000000000000000000000000000000000000000e-01
.5000000000000000000000000000000000000000e-01
.2500000000000000000000000000000000000000e-01
.2500000000000000000000000000000000000000e-02
.1250000000000000000000000000000000000000e-02
.5625000000000000000000000000000000000000e-02
.8125000000000000000000000000000000000000e-03
.9062500000000000000000000000000000000000e-03
aad
.7683715820312500000000000000000000000000e-07
.3841857910156250000000000000000000000000e-07
.1920928955078125000000000000000000000000e-07
.9604644775390625000000000000000000000000e-08
Machine Eps = 1.1920928955078125000000000000000000000000e-07
>

W NP WO =, NO

o= N D

0 45: 000
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/* round.c rounding error */
#include <stdio.h>

void main(void){
double x;

x =1.0/2.0;
printf("x = %.40e\n", x);

x = 1.0/20.0;

printf("x = %.40e\n", x);
}

O 46: round.c

> gcc round.c
> a.out
x = 5.0000000000000000000000000000000000000000e-01
x = 5.0000000000000002775557561562891351059079e-02
>

047 000
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19.3 0O0O0O0OO0

gobooob 2000000000000 0D0ODLDO00O0O0DDLDDODO0O0ODDO0ODODDOO
gboooboobobooobooboboobobooboonboo 1.0016 —1.0=0.006 DODOO
gboo200000000

00000000000 x=0.003138400000

] 1 _\/1+x—1
Vitr  Ji+z

000000000000000000 0.00158790000

00 =1-1/v/1.0032 =1 —1/1.0016 = 1 — 0.99840 = 0.0016000

00 = (1.0016 — 1)/1.0016 = 0.0016/1.0016 = 0.0015974

O0o0D0Oo0o00oobOooooooboooOo 200000000
00000000000000000000000000000000000000000

oo ooouoooooobooa

g =

x
= (0.0031834/(1.0032 + 1.0016) = 0.0015879
Vi+z(v1+2z+1) /( )

19.4 0O0O0O0ODOO

0000000000 2000000000000000000000000000000
000000000000000000
0) X =0.48362x 10°0 Y =0.51323 x 10200 Z0000000 5000000

7 = 0.48362 x 10° 4+ 0.51323 x 10? — 0.48413323 x 10°
— 0.48413 x 10° +0.323(00)
= 0.48413 x 10°

0) X =048362x 10° 0 Y =0.5132300 20O

Z = 0.48362 x 10° + 0.51323 — 0.4836251323 x 10°
— 0.48362 x 10° +0.51323(0 0
= 0.48362 x 10°
— X(ZOOOOYOOOOoooooog!)

000000 00bOO0ODOO0o0O0O0DO0O0bO0ObO0OO0bO0ODOD0oOoDUoOo 8UboboooooxO
gooobbbooooooobbbbtioooobobobbbobooUobo=x=1.000000
udooooooooboboboobbobbobboxddooobobobobobobbbboouooa
(00000D0D0OD0OOCTRL-COOOOOO)

19.5 0O0O0O0

il 0uuuuooooooooboobboboboboboobooboo
000o00o0b0o0ob0ooOoifoobobD0o0ob0x00ob oobo0obDOobObOOoDOn
if( x == 0.0 )
goboobooboobooobo0obooboooobooboooboUobUoUobOoUooDboDbDDbOo
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/* ierr.c Infinte Loop */
#include <stdio.h>

N

void main(void)
{
float x=1.0;
while (x <= 2.0) {
printf("%.12e\n", x);
x += 1.0e-8;
}

© 00 N O O b W

O 48: ierr.c

gbooboooboboooboboboooboobobOooboobDoooboobooboobbo
o0b0o00o0ob0ob0b0o0x0oboobOooDoobOoboooboobDoOobObDbOoDOg

if ( fabx(x) < 0.0001 )
ggoobobbtooooooobbbooouuu gz oo o
uoboboodbobobooobbooobobobooobbooonoo

19.6 0O0O0O0ODOO:-0000
e"0x=00 Taylor OO0 0ODODOOOOOOOODO

P AN
e’ = _ _ _ e e R e
TR TN R (O S TR X
00000000 ¢00000000000000000000000000000000
D0D0000000000000 k0000000 k00000000000 00000000
00000 A0000000000000000000000000000

00000 k0O00DDOO S, 000000000000 0O0DOO0ODODOO

|Sk — Sk—1]
|Sk-1]

000000000000 00000000000000000000000000000
000000000000 490 50000000000000000 exp(1) 0 exp(10)0 exp(100)
0000000000000000000000000000000 exp(—20) O exp(—40) O
0000000000000000000000000

0000000000000 0000000000000000 0000020000
00 k0000000000000000000005102=-40000000000000
k=40000000000000000000000000000000000000000
0000000000000 000000000000000000000000000000
0000000000000000000000000000000000000000000

ggoouobobob 0000000000000 ouuouuboboooboobn
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/* exp.c —-- exponential function */
#include <stdio.h>

#include <math.h>

#define EPS 1.0e-16

double myexp(double x);

void main(void)
{

double x;

printf ("Enter a real number.\n");
printf ("Enter q to quit.\n");
while(scanf ("%1f", &x) == 1)
printf ("Exp of %e is %.15e (%.15e)\n", x, myexp(x), exp(x));

}
double myexp(double x)
{
double a=1.0, s=1.0, sO0;
int n=1;
do {
sO0 = s;
a=ax*xx / (double) n;
S =8 + a;
n++;
} while(fabs(sO - s) > EPS);
return s;
}

0 49: exp.c

godddd z0O0O0O0OO0OOODODODODO0O0OO0O0O0O0O0O0OO

o exp(—20) 0 exp(—40) 00000 20000000000 e = 2.718281828459046 O ||
0000000000000

o exp(—20.12) 0000 x0000000000 exp(—20.12) = exp(—20) x exp(—0.12) O
dddzs00000000O0OOOOOOOOOOODOOOOODOOOODOODODOODO
gogddooooooooobbbbbbbbbbooboooooo
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> gcc exp.c —1m

> a.out

Enter a real number.
Enter q to quit.

1

Exp of 1.000000e+00 is 2.718281828459046e+00 (2.718281828459046e+00)

10

Exp
100
Exp
-1

Exp
-10
Exp
-20
Exp
-40
Exp

q
>

of

of

of

of

of

of

1.000000e+01 is 2.202646579480671e+04 (2.202646579480672e+04)

1.000000e+02 is 2.688117141816134e+43 (2.688117141816136e+43)

-1.000000e+00 is 3.678794411714424e-01 (3.678794411714423e-01)

-1.000000e+01 is 4.539992962302762e-05 (4.539992976248485e-05)

-2.000000e+01 is 5.621884467407823e-09 (2.061153622438558e-09)

-4.000000e+01 is -3.165731894063124e+00 (4.248354255291589e-18)

0 50: 000
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000000000000 CO00oO00ooOO0ooO0U0oD 10D0D0DoU0oDoOOooOOoO0onOd

oooo
1 /% array.c -- small example for array */
2 #include <stdio.h>
3 #define MAX 100
4 void main(void)
5 {
6 int a[MAX];
7 int sum = 0;
8 int n = 0;
9 int i;
10 printf ("Input whole numbers up to %d.\n", MAX);
11 printf ("Enter EOF to finish the input.\n");
12 while( n < MAX && scanf("%d",&al[n]) !=EQF) ++n;
13 for (1 = 0; 1 < n; i++)
14 sum += ali];
15 printf ("The sum of the input data is %d.\n", sum);
16 }
O 52: array.c

> gcc array.c

> a.out

Input whole numbers up to 100.

Enter EOF to finish the input.

1234

) EOF (End 0f File) CTRL-DO OO

The sum of the input data is 10.

O 53: 000

1. |int a[MAX]; 0OO0OO00O0O
000000000 00MAXODODO0O0OO0O0O000000OMAXOODOOO (100) DOODO
O000O4int af100]; 0000000000 OCO0OOCODOOCOOOO0ODO0O0OOO MAX] O
gogodoooooooooobobbbbobbn

o8



2. 000i0000000alil]O0000000O0O0OO0ODO0OOOODOOOOODOODOOOO
gooooo
alol, al1], ... , a[MAX-1]
0000 Pascal OO 0ODOODOODOOOOOODOOOOODOOOOCOODoOODOO
O0oooOoooooooa

3.‘while( n < MAX && scanf ("%d",&al[n])!=EQF) ++n;
— 0000000000000 000O0nO00O0 OO0 1000000000O00n0O0OO
O0Oscanf 000000000 OO0OODOO0OOOOO0OOO0ODOOOOOODOOOOO
O0dooMAXOOOooooo (&&l:]l:]l:]l:])DDDDDDDDDEDFDDDDDDDDD++n
Ooooooooooooalol, ali1l, al2],... OOOODO0OOOOOOOO

4.‘for (i =0; 1 < n; i++) sum += al[il;
0000000000 00i000 000n00000000 sum += alil]OO0OO0OO0OO
0000 sum = sum+ali] 0000000000000 sumO000000O0O0O00C0DOCOOO
000000i0000000000000000for000000O (i=0)0 000000
O0000i++ 00 1000000
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21 ODO:000000

21.1 0OO0OOO

gbbggobbogobboobooobuoobb oo oobbbboobuooobo
ugooobooooooooooobooobotboooooobobobbooouoobobobboooa
ggooooooooobbobbbbbbbooodoooouououooboooboooon

1.|000000
0000 ay,a9,a3,...ay 000000 (000D0000000000000)00000O
0000004000 23,...,NOOODODOOOOOOOO0O0O0O0000000000
0000000 ;000000000 (a1,a9,a3,...a,.1) 0000 ;00000000
0000000 ;00000000000 00 0000000 (ay,az,as, ..., ai—1)
0000000000000 (,00000)0 ;0@ 000000000000
00000000[00jpooo

OO ay a1 as as Qy as ag ay

87 23 19 30 11 89 87

19 87 23 30 11 89 87

30 87 23 19 11 89 87

11 87 30 23 19 89 87

89 87 30 23 19 11 87

87 89 87 30 23 19 11

8 87 8 30 23 19 11

1=2,3,..., NOOODODODOOODODOODOOOD ;0DO00ODODO0ODODOODOODO
(ay,a9,a3,...0;1) 0 0000000000000 (DODODOODOO)OD0DO0ODOODOO

2. 000000 ,000000000000000 ;000000000 ;000000
000000 O000000000000000000000000000000000
r=0;00000 ¢00000a;(j=i-1,i—2,i—3,...,1)0000 2000000
00000000000000000000000 aj41<e; 00000000 a; >20
0;j00000¢0000200000000a, < 20000000a000000
00000000D000000000O000

for (i = 2; i <= n; i++){

x = alil;
al0] = alil;
jo= i1

while(x > a[j]){
alj+1] = aljl;
j=s
}

alj+1]=x;
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21.2 0OO0O0OOO

dddddoodogoooooooooboooboobooooobbbbbbbon
ggbooooboodooooooboobobobobotboooooooboobbbooouooooboboboooga
ugbobboooobobooobobobuooobobobooobobboooobobooonoo

1. |0 O readArray
OOoOoOoO0DOOo0oDOO0bOo0ooO0obooD0oooOooDOoOOoboOoOobOoOOoDboOobOooo
OoOooDooOoo

2. ’int readArray(int a[], const int limit);
0000000000000 000000D0000000O0int allJO0OCalJ]OOOOO
OD00Da000000000000int 0000000000000 000O0O000O00O00O
dddoodooooooooooooouooooooooooooooooooooo
godooodooodooouooodooodoooooooooooooon

guobbdoboooobboobbuotbblimitd0oogooooboboooonoa
gdddboodddddddooododd00dUUUdUudUUULuUoUguo g
UUOOconstUUOOOUDOOUOOOOOUODODODOOODO0ODIIimit0O0OOO0OOGOd
gooood

3. 00readArray 000000000000 OOO0ODOOOOODODOOAlOlOOOODODOO
O0D00al]O00ODOOODOO

4. O0printArray 000000000000 if( i%10 == 0) putchar(’\n’); O0O0O0O
OO0 looobobooobobooboobooboobobooo ooboobobobooo
OO000bO0obO0bO0obOOoO0ooO0oO00oO0ooOooooOobOoooooooo NOOOOo
00000000000 0i000 N+100ODOODODOO ifC i%10 !'= 1) putchar(’\n’);
oooboobobooobob oobobooobuooboobooo

5. 00sort000000000O00OOOOO(0O)0DDOOODO

21.3 0OO00OO0OO0OOOOoO

l. 0ooboooobobbooobobooobooobDbboobobooobooooboboo
dobobooobobtbooobbbooouobbooooboo

2.000000000000000000{Y00000
0) int al6]={0, 2, 4, 6, 8, 10}
00000000000000000000000000D00al0l00000DO0O0OO0
oooooOoooOog

3. 000000000000000000000000000
0) int a[l={0, 2, 4, 6, 8, 10} O

4. 000000000 OoOOoOo0oDooo0ooOooo0ooooooOooooo l1ooooao
000000000000 00000000a0000O0O0O0O0OO sizeof OOOOOO
OO0 sizeof a / sizeof(int) OO OOOO

sizeof UUUOUODOODODOOOO0O0O0OOOOUOOUOUOUOUOOOODDODODOODLDODODDOOint
O00000C0C0O0O0OOsizeof (int) OOOOCODOODODOO
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/* sort.c -- straight insertion sort */

#include <stdio.h>

#define MAX 100

int readArray(int a[], const int n);

void printArray(int al[], int n);

void sort(int al[l, int n);

void main(void)

{
int n, a[MAX+1];
n = readArray(a, MAX);
sort(a, n);
printArray(a, n);

}

int readArray(int al[], const int limit)

{
int n = 1;
printf ("Input whole numbers up to %d.\n", limit);
printf ("Enter EOF to finish the input.\n");
while(n < limit+1 && scanf("%d",&a[n])!=EQOF) ++n;
return --n;

}
void printArray(int al], int n)
{
int i;
for(i=1; i<=n; i++){
printf("/%d ", alil);
if ( 1%10 == 0) putchar(’\n’);
}
if( i%10 !'= 1) putchar(’\n’);
}
void sort(int al[], int n)
{
int i,j,x;
for (i = 2; i <= n; i++){
x = alil;
af0] = alil;
j = 1i-1;
while(x > a[j1){
alj+1] = aljl;
i3
}
alj+1]=x;
}
}

O 54: sort.c
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22 0O0O:000000

0000 a;,(i=1,2,...,n)0000 ((n+1)/2000000000)0000000000
0000000000000alil000000000000000000000000000
Dal1]00alnl 000n000000000f000000000000000000000
000000f = (n+1)/2000000000000000000000

f0000000000000000000000000000000000000000
D000000000000alf1000 (altl00alf-11)00alf] 00000000000
0000000alf] 000 (alf+1100aln])000000000000000000000
afufafala

I - ]
Ieft—>i\ /j<— right

f

y

left right

— A

left > "~ right

a[f]

—_

.x =alfl] 0000

.goobdobooooboboobooobooboxb0obOoboOxobOobooooobooon
000000000000 [1eft, right]OO0O0O0OCOCOD (1,nl0DOO0O

. OoOOOoObODboObObOOoO0oooooobobbbbbooooogxboooooox0o0OO
gboooboon

4. 0000000000000000O0014, jOoOOalilOaljlonoO0O0o0n00O

. ooboobooboooboobbooi, joboobUoobOoUoi > jobOoboboOon
0000000000000 0 (100 (0000 000000000000) 0000
Uxgobobooboboobooboboxboboobooboboobobbobx
00000i00 (0000j)0000000000000000000

6. 00f0000000000O00 (£»> j)0f00000i00right 000000000
00000 (f < 1)0f00000j0011eft000000000DODO0OOOODOOODO

[N}
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0000000000000 00000000000000Ol1eft =i0000000
DO000right = jO000 20000

7.0000000000000000000 [1left,right] 0000000000 OD0OOOO
0000 f0000000 (left >= right 000)00000000O00O0O0OOOOOO
gofdopogbubgobbouonooobobobooboooboobooboobon
0000000000000 00O0000O0O00DO0O00b0af]O0DOOO0O0ODOOO

050000000000

1. 0000000000000 000000o0o0o0ooooooooooooooooon
int readArray(int [], int); OO0OO0O void swap(int *, int *);

goooobod

gobggbobooobobooobodoobboobboobbooobboobobooobn
Obo0oo0obooobOobooobgonon 550 swapd

SEEE]

swapU U dooooooooooboooooobbobooooooobobobooooooo
O00000000O#define 000 OO0O#define MAX 1000 00000O0O00O0OO0O
goovMAxXdoooog1oeoooooooooogooooooooooooooon
00000000 0dododd#define MAX 1000 000000O00O0OO0O0O
#define SWAP( x,y ) {int t; t =x; x=y; y = t;}

0000 G,y 0OOOO00O0OO0O0ODOOOO0O0ODOOO0ODOOOOODOOO0ODOOO
SWAP(alil, aljl); OOOOODOOODOCOOOOOClilOx0O00OO0D0OOOalj]l Oy
O000000000{dint t; t=x; x=y; y=t;y0000

{int t; t = alil; alil = aljl; alj] = t;}0000000000O0O0OCOO0OOO
oooooodo

OO0D00D000D000000 swap(&alil, &aljl); O SwAP(alil, aljl); O0OO
0000000000 swAP(alil, aljl) OO

000 {int t; t = alil; alil = alj]; alj] = alil;} O0O00OOO0ODOCOODOOO
O0O000000O00DO000D0O0ODbD0O0ODO0O0O0ObOOOoDOnOD 56000 550 swap
OO00000DOoooOooooog

000 {int t; t = alil; alil = aljl; alj]l = alil;} Oint t; 00000000
gggooog (DDDDDDDDD)DDDDDDDD

2.00000000Db0o00OoO0bDbO0o0oooOobODbObOooobObDbObOoOoooD?ODO
gobooouoooooon
#define ABS( x ) (x> 0) ?7x : -x OO0 y = ABS(a); OODOOO
y=(>0)7a:-a; 000O0OOCOOODOOOO y = ABS(atb); OO
y = (atb > 0) ? atb : -a+b; 000 (a+b 000000 -a+b 00000000000
gooood DDDDDDDDDDDDDDD‘DDDDD
#define ABS( x ) ((x) > 0) 7 (x) : -(x)
000000 y = ABS(atb); OOy = ((atb) > 0) ? (atb) : -(atb); OOOO

3. 00:0000000000D00D0ODOO00DO0ODOOONODODOO
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/* medianl.c -- find */
#include <stdio.h>

#define MAX 100

int readArray(int [], int);
void swap(int *, int *);
int find(int [], int, int);

void main(void)

{
int n, a[MAX];
n = readArray(a, MAX);
printf("The median is %d.\n", find(a, n, (n+1)/2));
}
int readArray(int al[], const int limit)
{
int n = 1;
printf ("Input whole numbers up to %d.\n", limit);
printf ("Enter EOF to finish the input.\n");
while(n < limit+1 && scanf("%d",&al[n])!=EQOF) ++n;
return --n;
}

void swap(int *x, int *y)
{

int t;

t=*x; *x:*y; *y:t;

3

int find(int al[], int n, int f)

{
int left, right, i, j;
int x;

left=1; right=n;
while(left < right){
x = alf]l;
i = left; j=right;
while( i <= j ){
while( a[il < x ) i++;
if(i <= A
swap(&alil, &aljl);
i++; j-—;
}
}
if( j < £ ) left = 1;
}
return al[f];

}

while( x < al[j]l ) j——;

if( £ < i) right = j;

O 55: medianl.c
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/* median2.c -- find */

#include <stdio.h>

#define MAX 100

#define SWAP(x, y) {int t; t = x; x =y; y = t;}

int readArray(int [], int);
int find(int [], int, int);

void main(void)
{

int n, a[MAX];

n = readArray(a, MAX);

printf ("The median is %d.\n", find(a, n, (n+1)/2));
}

int readArray(int al[], const int limit)

{
int n = 1;
printf ("Input whole numbers up to %d.\n", limit);
printf ("Enter EOF to finish the input.\n");
while(n < limit+1 && scanf("%d",&al[n])!=EQOF) ++n;
return --n;

int find(int a[], int n, int f)
{

int left, right, i, j;

int x;

left=1; right=n;
while(left < right){
x = alf];
i = left; j=right;
while( i <= j ){
while( a[i] < x ) i++; while( x < a[j] ) j--;
if(i <= PA{
SWAP(a[il, aljl);
i++;  j-—;
}
}
if( j < £ ) left = i; if( £ < i ) right = j;
}
return al[f];

}
O 56: median2.c
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23 0ODD0O:0000000

23.1 Horner O

000 y=52*+42> -7z +100000000000000000000O0

Skxkx*x + 4xx*x — T*x + 1; (O00eOd OO 40)
((B*x + 4)*x - T)*x +1 (00 30 oo 34d)

y
y

ododooooooooooon

Y= " + ap 12"+ ap 02" 2+ cayxt +ap N(N+1)/200000 NODOOO

y= (- ((anx + ap_1)x 4+ apn-o)r---a1)x)+ap NOOODONOOOO
0000000000000 0000000000 HormerOOOOODOOO HormerdOOGOO
odoooooooooooooo

Hormmer0OOOODOOOOOOOOOO q;000a000alil]O00O0O0COOOOOOO
Odododsoooon

s := aln]
s := s x + a[n-1]
s := s x + al[n-2]

O000Os=aln] 00000000 Os=s*x+alil Oi=n-100i=00000000000000O

s = aln];
for(i=n-1; i >= 0; i--) s = s*x + al[il;
23.2 HornerOOQOQOOOOOO
O 5700 HornerDDDDDDDDDDDDDXDHDDDD(DDa[i])DDDDDDD
double polynom(all, n, x) OODOOODOO
24 0O0:Newton Raphson [

uddddoooooouoooooooooobobbobboooobbbbbbooboboo
000000000000 0D00DO0000D000D0D0DO00D0ODO00O0 Newton-Raphson
goood
24.1 OO

f(r) =000 200000 2, 000000000 f(z)0 Tayloo 00000 100000
0000000000 f(z)00 2, 0000 ¢, 000000000000000000 f(z) =
00,

f@) ~ flaw) + f(ae) (@ — 2x) =0
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1 /% polynom.c -- polynomial */

2 #include <stdio.h>

3 #define N 50

4 double polynom(double al[l, const int n, double x);
5 void main(void)

6 {

7 double al[N], x;

8 int n,i;

9 printf ("Enter the degree of a polynomial: ");
10 scanf ("%d", &n);

11 printf ("Enter coefficients:\n");

12 for(i=n;i >= 0; i-—-) {

13 printf ("al%dl=",1);

14 scanf ("%1f",&al[il);

15 }

16 printf ("Enter values for polynomial.\n");

17 printf ("To stop, enter EOF.\n");

18 while(scanf ("%1f", &x) !'= EOF)

19 printf ("Polynomial = %e\n", polynom(a,n,x));
20 }
21 double polynom(double al[], const int n, double x)
22 A
23 double s;
24 int i;
25 s = aln];
26 for (i =n-1; i >= 0; i—-) s = s*xx + ali]l;
27 return s;
28 1}

O 57: polynom.c

ugbobooooobbtb-00b0b00d o oo

Tppr = T — f(an)/ f'(2r)

00000000000000 2, 000000000000 25 - 2 - &,,, 0000000
000000000

D00000000000000000000000

00 00000 2g,21,22,---000 0000000 F(z)=2— f(z)/f(x)0000
F(z)D0DO00O0 KODODOOD K<100000000 2,21,%2,---0 000000

24.2 0000

dddodooououooooooooooooobobobobboobbbbbobobbbon
000000000000000000000000000000D000000 f(zy)OOODO
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000 $y = x"3+3x"2+3x+1$ 00000000

> gcc polynom.c

> a.out

Enter the degree of a polynomial: 3
Enter coefficients:

al3]=1

a[2]=3

a[1]=3

al0]=1

Enter values for polynomial.

To stop, enter EOF.

0

Polynomial = 1.000000e+00
1

Polynomial = 8.000000e+00
2

Polynomial = 2.700000e+01
-1

Polynomial = 0.000000e+00
“D

>

0 58: polynom.cO0 00O

f(X)

—] Xk+2 Xk+1 Xk

0 59: Newton-Raphson 0

0000000000000 e>00000 f(ay) <e0ODDOODOOOOOOODOOOO
oboboodnb 2z, 000000

eO0000O0OO0OO0DODODOOOOOLDODODOOOUOLODLOOOOUUObLDbLDbOOU e O
goood

1. f(z)DO0O0ODOODOOO0OOOOOOOOOODOO
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2. f(zx,) DOODOODOOOOUOOUODOODOODOODOOO

0000000000000 (2000 f(x)OOODDOOOD 00000000 DOOOODDOOOOO
000000 e000000D00ODOOO0 e0DO0OD0O0O0O0OOODOODOODOD e0O0DOODO
ugboboboooobobooooboboooobooog

24.3 000000
000 f(x)=000000f0f{00000000000000fx)0df(x) 0000

const double eps = 1.0e-8;

double x;
scanf ("%1f", &x); goooooooodao
do ooodo

Xx=x - f(x)/df(x); Ooog
while(fabs(f(x)) > eps); ooo0O (f&x)| <€)
printf("x = %e\n", x); oo00oa

000000000 DO00D0Dfx) 000 00000DOO0O0ODOO0ODOODODODODODOOODO
ggbobobooooboboodobobuoooobobobooobobbooobbooobobobooono
ggogoooooooobobobbbboon

const double eps = 1.0e-8;

double x;
int i=0; odooooooooooonn

const int max = 100;
scanf ("%1f", &x);
do {
x = x -f(x)/df (x);
++i; } goooooodao
while((fabs(f (x))>eps) && (i>max)) o000 (Ifx)l <e)0O0O
goooo>oooooan
if (i <= max) printf("x = %e\n", x);;
else printf("not converge\n");

244 n0O0O0000O0OO

O23000000polynom 00000 nO0O000OO0O0O0ODOOOODOODOOOODOODODOO
RN

flz) = Z a;zt =0
i=0
= a1+ ap 12"t ar+ao=0

goooooooo

f/(«T) — Ziaixifl _ nanxnfl + (TL N 1)an71xn72 fetay
=0
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= bnflxni1 + bn72xn72 +-+ bO
n—1
=0

0000 f/(x)0 b =(i+ 1) 000000 (n—1)00000000
O00000f(x)0df(x) 000polynom 00000000000, bO00000O00OOOPpoly
00000f£(x) Opolynom(a,n,x), df(x) Opolynom(b,n-1,x) 0O O0OO0OOOOO

000 x"3-9x72+26x-24=(x-2) (x-3) (x-4)=0 0 OO0O00O0OOO

> gcc newton.c -1m

> a.out

Enter the degree of a polynomial: 3
Enter coefficients:

al3]=1

al2]=-9

al1]1=26

al0]=-24

Enter an initial value:

To stop, enter EOF.

0
Solution
100
Solution
3.2
Solution
D

>

2.000000e+00

4.000000e+00

3.000000e+00

O 60: newton.cO O OO
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/* newton.c -- Newton Raphson Method */
#include <stdio.h>

#include <math.h>

#define N 50

double polynom(double a[], const int n, double x);
double newton(double al[l, const int n, double x);

void main(void)

{
double al[N], x;
int n,i;
printf ("Enter the degree of a polynomial: ");
scanf ("%d", &n);
printf ("Enter coefficients:\n");
for(i=n;i >= 0; i-—-) {
printf ("al%dl=",1);
scanf ("%1f",&alil);
}
printf ("Enter an initial value:\n");
printf ("To stop, enter EOF.\n");
while(scanf ("%1f", &x) !'= EOF)
printf ("Solution = %e\n", newton(a,n,x));
}

double polynom(double a[], const int n, double x)
{
double s;
int i;
s = aln];
for (i = n-1; i >= 0; i--) s = s*x + alil;
return s;

double newton(double al[], const int n, double x)
{

double eps = 1.0e-10;

double b[N];

int 1i;

for(i=n; i >= 1; i--) b[i-1] = i*a[i];
do

X = x - polynom(a,n,x)/polynom(b,n-1,x);
while(fabs(polynom(a,n,x)) > eps);
return x;

O 61: newton.c
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25 0OOOOOOO

1. alil]OD00O0O0ODO0O0ODOODOODOOOOODOODODODOOODOD

2. int a[MAX]; 000000000000 000DO0DOO0DODODOODODOODOODO
0(000000000000000) 000000 a == &al0] O

3. 00000 10000000000000000000O0O0O000O0O0O0OO0OO0O00O0
D000000000000D0 a+1 00a0int0000000000000 42)00
0000000000000 0al1]1000000000000O000a+1 == gal1] O
O00at+3 == &a[3] 000200000a+i == &ali]lO

* *

a (a+3)
ao] afl]l al2] a[3] a[n-2] a[n-1]

a=&a[0] a+3=&a[3]

4. 0D00D0«000000000DO00DO0ODO0OODO0ODO0ODOO0O0al3lOO0 *(at+t3) O
D000 (00: *a+ 3 00000000al0]030000000)0000ali] == x(a+i)O

5. 0OoUoOobOiOoUobbUolobbooboboOoobobDOoOoobObbboOoooDboOooon
gobboooobbuoooobboooobbooobobboooooboo

6. 0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000000000000000000000
000000000000000000 (sizeof 0100000000000000000
0ooooo)

7.019000000000000000000for (i=0; i < n; i++) sum += ali]; O
0000000000000 0000000Ofor (i=0; i < n; i++) sum += x(a + 1); O
goon

ODO0000000a00000000000O00000O0000a000000000a00
gddoououooouoouoouoouooogao

for (i=0; i < n; i++) {sum += *a; a++;} 00000

for (i=0; i < n; i++) sum +=*xa++; D00 0a00000000O00C0OO0OOCOOO
HREEN

int total(int al[], int n)
{ int sum=0, 1i;
for (i=0; i < n; i++) sum += *a++;

return sum;}

Ula++ 001 00000000000 00000O0DOO0O0O0DLDDOOOLOO

a3l 000000 00O0DO&O0DOOODO
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26 UD0O0OOOOOO0O0OU0DUODODUODUOUUDDbDbODbObODbODbOOOO

10000b0bbooo2000000b0bb0000o0o0ooobooooooDoDbboOogo
gboobdoo2b000booboooboboobbooboobDooobooboobobobDbo
e300 0pnooooonog

1. 00000000 b0o0oobDbooobDboooboboooobooooDoooobOoo
gL UuLoLouo g
000000000000 00000 (00000 0) 00000000 DO0ODOO0DOOO
o

2. ‘double a[MAX] [MAX+1] ; DDDDD\
0000000000000 000000000000000000000 200000a
00000000000000 alilljl 0000000

3. ‘scanf("%lf",&a[i] (31);
0000 %1f Odouble 0O ODO0O0ODOOODOOOOOOOOOOOOO

4. 062000000000000O00O0DODOODODOOODOOD

3 -4 2 T 0
2 5 3 y |=1| 6
-2 3 =2 z 1

> gcc gauss.c

> a.out

Enter the number of the simultaneous equation.
3

Enter coefficients in row-wise.

3-420

2536

-23-21

x[1] = 2.00 x[2] = 1.00 x[3] = -1.00

>

0 62: gauss.c DO OO
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1 /% gauss.c -- gaussian elimination */

2 #include <stdio.h>

3 #include <stdlib.h>

4 #define SWAP_DOUBLE( x, y ){double t; t = x; x =y; y = t;}
5 #define MAX 31

6 int readArray2(double [][MAX+1], const int);

7 void gauss(double [][MAX+1], double [], const int);
8 void printArray2(double [], const int);

9 void main(void)

10 {

11 double a[MAX] [MAX+1];
12 double x[MAX];

13 int n;

14 n = readArray2(a, MAX);

15 gauss(a, x, n);
16 printArray2(x, n);
17 3}

18 int readArray2(double a[] [MAX+1], const int limit)

19 {

20 int n;

21 int i,j;

22 printf ("Enter the number of the simultaneous equation.\n");
23 scanf ("%d", &n);

24 while( n <= 0 || n > (Q1imit - 1)){

25 printf ("The number must be positive");

26 printf("and less than or equal to %d.\n", limit-1);
27 printf ("Enter, again\n");

28 scanf ("%d", &n);

29 }

30 printf ("Enter coefficients in row-wise.\n");
31 for(i = 1; i <= n; i++)

32 for(j = 1; j <= n+l; j++)

33 scanf ("}1£",&ali]l [j1);

34 return n;

35 )

36 void gauss(double a[] [MAX+1], double x[MAX], const int n)
37 {

38 int i,j,k,largest;

39 double t;

40 for(i = 1; i < n; i++){

41 for(largest = i, j = i+l; j <= n; j++)

42 if(abs( alil[j] ) > abs( allargest][i] ))
43 largest = j;

44 for(k = i; k <= n+1; k++)

45 SWAP_DOUBLE( al[largest] [k], al[il[k]);

46 for( j = i+l; j <= n; j++)

a7 for( k = n+l; k >= i; k--)

48 aljl k] = aljllk]l-alil [k1*alj][i]l/alil[i];
49 }

50 for(i =n; i >=1; i--){

51 for(t = 0, j=i+l; j <= n; j++)

52 t =t + alil[j1*x[j];

53 x[i] = (alil[n+1] - t)/alil[il;

54 }

55 }

56 void printArray2(double x[MAX], const int n)

57 {

58 int i;

59 for(i = 1; i <= n; i++){

60 printf ("x[%d] = %5.21f ",i,x[i]);
61 if( i%3 == 0 ) printf("\n");

62 }

63 if ( i%3 != 1) printf("\n");

64 }

0 63: gauss.c
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27 0O000O0OOO0OODOOO0

1. 000 100004int a[3]; OOOOOOCODODOOO

(a)
(b)

()

int ; ODO0al0], alt], al2] Oint OO

int [a] [3] ; a0int0[31 0000000000 a0int (3100
=a00000000000al0]l(int0) 0000000000000 (00)0
a == &a[0]; *a == a[0];

= a00int *x0000000000 (4a0&al0l 0000 (ANSI C))O
00000000000000

O0DalNJOOOOO ali]<=x*(a + i)
000 al0] «<==*al
galil<—a + i

O00C0p0O0OO0OO x(p + 1)<=plil

2.0000014int al3]1[2]; OOO

(a)
(b)

int |al[3][2]| ; OOal0][0], al0][1], al[0][2] ... al[2][1] Oint OO

int (2] ; al0], al[tl, al2l 000000int0[2] 0000000 10
0000000alo] 00000 {alol[0], alol[1]1}0

= af0], a[1], a[2] Oint [21 000 1000000000 (int0)00000
00000int *0O

al[0] == &al[0][0], al1] == &al[1][0], al[2] == &a[2] [0]

int [a] [3][2] ; :aOint [3][2] OJ.

= a0int [2]0[31 000071 007000000000000000000

= al0000000000al0l(int [210) 000000 (%.a[01)000 Oal0]
Dint 00000000000a0%nt 0000000000007 000 (2000)0

a — a[0] — alo0] [0]
int [3][2] O int [2] O int O
int [2] 0000000 int *
int **

alint 0000000000000 000Int »x0J00000O0O0OO0ODO
gooboooooboon

ab0O0O¢alo]O0Oalol]000¢galo]0] 0000000000 00D0O000OO0O
0000000000000 00O0000O00DODO00D000O0OO0dint (2100
O00000000D0int0000D000D00ODO0ODODO0ODO0ODOO0a +10afl0] +1
00000000000 (1 0000000000000 Int [2J 0000000
O0000000al0]l+10int0000000O0O0O)O

76



| a[0][0] | | a[o][1] | | a[1][0] | | a[1][1] | | a[2][0] | | a[2][1] |

R 2mﬁ ||\ ml\ ||\ ﬁﬂ\ |
‘\\a[O] \a[0]+1 \a[l] a[l]+1 \a[Z] a[2]+1
a a+l at+2
al0] a[0]+1 al1] a[l]+1 a2] a[2]+1

= &a[0][0] | = &a[O][1] | = &a[1][0] | = &a[1][1] | = &a[2][0] |= &a[2][1]
=*a =*a+1 |=*a+l) |=*a+l)+l=*(@a+2) |=*(@a+2)+1

(e) |20000D0000000000000OO
alil [j] == *x(x(a + 1) + j);
000000000000000
10000 int alN]; O0O00&alil0 OO0 O i*sizeof(int)
20000 int a[NIM]; OOO0O &alillj] O OO +(i*M + j)*sizeof (int)
0002000000000000000000000 (00000000000
000000000000000 (0000000gausss000MH1O0000000)
0000000000000 000000000000000000000

(f) |20000000000 |

static int a[2][3] = {{35, 75, 79},{23, 59, 82}};
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28 0OOO

1. 0000000 (char) 0000|000 (character string) [0 0 0O

0000000Ochard000 (char [10)00000000O char s[10];

OO00 100

O00000000000DO0o0DO0oOoooo|oogo\o0Doooooooood

O0000o0b00ooo9ob0oboouoboboon
s = 123456789\0 s = abcde\O

goodgogd

4. 000000 i0000000Os[1] 0000

s00000000000000000000000000Ochar000000OsO (char *)

o O b W N

\]

10
11
12
13
14

15
16
17
18
19
20

/* reverse.c -- string reverse */

#include <stdio.h>

#include <string.h>

#define SWAP_CHAR( x, y ) {char c; c =x; x =y; y =c;}
#define MAX 81

void reverse(char []);

void main(void)

{
char text[MAX];

printf ("Enter a character string.\n");
gets(text);

reverse(text) ;

puts(text);

void reverse(char t[])
{
int 1i,j;
for(i = 0, j = strlen(t)-1; i < j; i++, j—-)
SWAP_CHAR(t[i], t[j1);

O 64: reverse.c

ge4d00D00000ODOODO0DOODOOODODOOODOODDOODOOD

1. |#include <string.h>
strlen0 0000000000000 O0OOCODOOOOODOOODOO
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4.

7.

28.1

gets(char []) OO
O0D00D0000OOgets(text); 000000000000 OtextO000OOOOODOO
gobooooooouooouoobooobooouooouooouoobuooon
text U0 UOO0OOOOOOOODOOOO0O0ODOOO0O0OU0ODOODDOO0O0OUddgets
00000000000 (00000000)00000000 char *gets(;0

0000000000000 0 EOFOU0OU0OUODO0O0O0O0OONILL(OO0O0DO000 0)0
O00Oscanf 00 0000O0%s 000000000 ODOOOOOOODOO0ODODOODDOO
gooooooo

puts(char [1) 00O
0000000000000 printf 0000000 %s00000DOODOO

‘void reverse(char []);
DDDDDDDDDDDDDDreverseDDDDDDDD(void)DDDDDDDDDDD
O000000OOdchar (JOOODOOOCOOOO

. void reverse(char t[]); Ovoid reverse(char *t); 0000000

-

000000 (000000 (00)000)00000o0

""gobgoobobuoooboboooobbooobbooobbboobbbooobo
gobobooodon

"J00o0000ooo0doooogooooooooogoo\N\ogooooo

gooooood
gobobooooboobotboooobboooooo

char s1[5] = {’a’, ’b’, ’c’}; x JUo0ooooodooooooodgo
char s2[5] = {’a’, ’b’, ’c’, ’\0’}; o

char s3[3] = {’a’, ’b’, ’c’, ’\0’}; x JUoooooooooooooooon
char s4[] = {’a’, ’b’, ’c’, ’\0’}; o

char s5[] = "abc"; o OOODOO

static char s5[5] = "abc"; o OJOOOO MDOoo)

char *s6 = "abc"; o UOOO0OOOOO0OO

gooooood

OeUD00D0O000D000D0ODbO0O0D000D0OCcopy0oU copyllcopy20 00O OO
ogoooogd

1.

copy0UUOOOOtoOfrom0 00000 100000000000 0OO0O0OOOfordnd
i000000 1000000000000 from0i00000 (from[i])0000to 01
00000 (tofif)) 0000000000000 0O0frem[1] 00000000 DOOODO
oddbbbfordddddoooonobobbbtogdgobbbbobobobbboOog
OOD0O0O0O0O0O00O0D0DODO+telil="\0’; 0000000000 O0O0OOO
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~N O O W N

©

10
11
12
13

14
15
16
17
18

19
20
21
22
23

/* strcopy.c string copy */
void main(void){
char x[] ="abcdefg";
char y[10];
copy2(y,x); /* using copy2 */
puts(y);
}

void copyO(char to[], char from[])
{

int i;

0; from[i]!="\0’; i++) tol[i] = from[i];
;\O;;

for(i
to[il]

void copyl(char *to, char *from)

{
while(xfrom != ’\0’) *to++ = *from++;
*++to = ’\0’;
}
void copy2(char *to, char *from)
{
while( *from ) *to++ = *from++;
*x++to = "\0’;
}

O 65: strcopy.c

2. copylOO0DOOOO0ODODOOOODUOOODOOODODOUOOODDOOODDOOOOO
00000 (25000)0
void copyl(char *to, char *from)

bbb0ddteUfromUd oo boooobboooobobooonbbx, yo

godobbbDx, yOUbodoooooooooobbobDbODODtoUfrom OO OO0
bb0Ox, yUOUOODOOOOO

. 00ooo«=oooo
*to = *xfrom;
do0doooooouodfromd 000000 dotod0odoooooonono
gooog
tot++; from++;
O0ooobodddto, fromdddooooddo 200000000000 bDoOoOoa
O000d0ddoooooooooobobob 2000000000000 000000000
*to++ = *xfrom++;

30



00000000000000000 (copy200)00000++000000O00OOODO
O000*x00000¢to, from0000000000O0teo0from00 (DO0DOOOODO
00)000000000000000O0UOOoUoOOn

4. 000000 for000000O0O0OO0OO0OU0DODODOO0O0ODfrom0 00000 ooooog
O000000O0Owhile( *from !'= °\0?) 00000 00O0O0OOQO0OQO0ODOODOODODOO
while( *from ) DO OOOOOO

28.2 0OU00O0OOOOOO

ggooooooobobobbbood
o OO bOODLObOObOUO0O0OOOUUyg
obbUbOoUoobbOooobbbOooobLboog

gbooooboobobooboboobobooboboobesbbooboobboOoobOO
U0U0sO0000000O0O000O0DbOO0D0000gUsbbbbbbbbbO0D0oooooo
O00O0bO0o0oO0obOoobOUobDOobooboOobDe7TOOo0obOUObUObObOUObDOobDOoOobOOD

—

#include <stdio.h>

void main(void)
{
char x*s;
/* WRONG */
gets(s);
printf ("%s\n", s);
}

0 N O O W N

O 66: strl.c

> gcc stril.c

> a.out

abc

Segmentation fault
>

0670000000 strle00D00O0

gbobooobooboe8sbobobooboobobooboboboobooboboobo
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—

#include <stdio.h>

void main(void)
{
char s[20];
/* GOOD =/
gets(s);
printf ("%s\n", s);

00 N O O b W N

O 68: str2.c

0000000000000 000000D000OmallocO0000oOooODOOO D00
O000O0Omalloc(20) 000000O00OD0O0OODO (DOUOOUOOOOOO200)000000
000000000000 00000000000000O0DO0DO0O0DO0OUDO (DOoO)
O00O0O(char ») 00000000000 OOmalloc0000000 (void )000O0O0OO
UbOob00o0obuoboboOdOOmallocOOOOOOO 36000 0O00OOOO

—

#include <stdio.h>

2 void main(void)

3 {

4 char x*s;

5 /*x 0K */

6 s = (char *)malloc(20);
7 gets(s);

8 printf ("%s\n", s);

9

O 69: str3.c

0000 7000000000000000s0O0 char *s="1234567890123456789"; OO0
gobbodoobbooobbuoobobb st gbbooobbooobbooa
ggboboodoobdoooboboooooboooboobuooobbbooooboboon

OO0 char *s="1234567890123456789"; LU UUsOUOO0OODOOO
"1234567890123456789"U U U U0 ODOODODOOD 00000000 Uooouououoooo
O0D0DO0CO0O000000000000DO0DODO0DO0DO0OD0O00OODODGgets(s);
ugbobbooooobdoodobouoouobbboooobobbooonboo

28.3 0O0OOOO
00000D00000000000000
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00 N O O b W N

#include <stdio.h>

void main(void)

{

char *s="1234567890123456789";
/* WRONG */

gets(s);

printf ("%s\n", s);

O 70: strd.c

: ‘int strcmp(char s1[], char s2[])

00000000 00o00ooo0o0O0OD0OO00DU0DO0OUDOO0(DUDDOOOD
00)00s1<s2000000 s1>s2000000000 (s1 ==s200000000
000000000000 000000000OUoOUoOUoOOoDO)

char *strcpy(char s1[], char s2[]) :s2000000000s100000000O00Os10
char #*strcat(char si1[], char s2[]) :s20s10000000O00Os10

int atoi(char [1):000000000O00OODOOOOOOOOO0O:"123"0 12300
HEN

. double atof(char []1):000Odoubled OO

long atol(char []):000longd OO0

33



29 DO:000000D0DOOO

/* patern.c -- pattern search */
#include <stdio.h>

#include <string.h>

#define MAX 81

#define NOT_FOUND -1

gD WN e

6 int search(char [], char []);

7 void main(void){
char text[MAX], pattern[MAX];
int i;

©

10 printf ("Enter the text.\n");

11 gets(text);

12 printf ("Enter a pattern.\n");

13 gets(pattern) ;

14 if ((i = search(text, pattern)) == NOT_FOUND){

15 printf ("No string matched the pattern:");

16 printf ("%s\n",pattern);

17 } else {

18 printf ("The string which started at the ’dth character ",i);
19 printf ("matched the pattern.\n");

20}

21}

22 int search(char text[], char pattern[]){
23 int i,j;
24 int patternlength, textLength;

25  i=0; j=0;
26 patternlLength = strlen(pattern);

27 textLength = strlen(text);

28 while( ( j < patternLength ) && ( i < textLength ) )

29 if( text[i] == pattern[j] ){
30 i++; j++;

31 } else {

32 i-=3j-1; j=0;

33 }

34 if( j >= patternLength )

35 return( i - patternLength );
36 else

37 return NOT_FOUND;

38 %}

O 71: pattern.c

O7100000000textUpattern000000textUpattern0 000000000
ugooooooon
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30 0OOOO

0000000000000 00000000000D00OOoDOo0oOooDOoooOoon C
ugboboodoooobuooobboooooog

30.1 0O0OOOOOOOOO

ddddddooodboobooddduooooooooboobooobobbood e
pbO0000000 ged(a,b) 00000
a>b00000 ged(a,b) = ged(a — b, b)
a<b00000 ged(a,b) = ged(a,b— a)
a=000000 ged(a,b)=a=0b(0000)

1 [@00]

000000 (recursive cal) 0000000000 720000000000000000
ODO0000gecddO0DOODOO

1 /% rged.c -—- recursive version of gcd() */

N

int gcd(int a, int b);

void main(void)
{
int x, y;
printf ("Enter two positive intergers: ");
scanf ("%d %d", &x, &y);
printf ("%d\n", gcd(x, y));

© 0 N O 01 b W

10 int gcd(int a, int b)

11 {

12 int z;

13 if( a = b)

14 if( a>b ) z = gcd(a-b,b);
15 else z = gcd(a,b-a);

16 else

17 Z = a;

18 return z;

19 }

0 72: rged.c

OO00OO0o00OgB3ooooogon

2. 00000000000000DO0O0O0O0OO (z)00UODO (&, OO”0000O”0O0O
O00000ged(DD00D00)0ged(00D0D0)000000DO00O00OOOOgd0OO
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gcd(24,18)
lz = gcd(18,6)

gcd(a, b)
lz = gcd(12,6)
gcd(a, b)
|z = gcd(6,6)
gcd(a,b)
lz = 6;

|return z(=6)
|return z(=6)
|return z(=6)
|return z(=6)

O 730000 gcd0DOOOO
0000000000000 00000ged0 00000000 DOOODOOUD (ODDOO

O000)D0000000000ged0z00O0OODD0O0O0O0ODO0O0OODO0O0OOOgCd
UzOOO4oooooao

J. 0oboooooobboooooboooooboooooboOobooboooooDboboOon
4. J000OU0O000return0 0000000000000 0OOO0 (tail recursive) 0000
00o000o00oo0ooO0oo0oooUoUoUoUoOoO (Do 03000o0o0)o

30.2 0O0OOOO0O0O0OO0ODODOOUOOODDOO

\ [faEo0]

0000 (1000)000000002000000000000 (toBinary) OO 740
000 4(1000)0 200000 100000000000000O0O0 20000 /2000
0%200000000000004020000 10000000000

nin?% 2

414 % 2=0(100@OO0O00O00O0O0O)
4 /2=2(2%2=0|200@O0OC0O0O0O0O0)
2/2=1|1%2=1|400 (00000C0O0O0O)

2. if(n !'= 0 ){
r = n%2;
toBinary( n/2 );
printf("%1i",r);

ooy yduuouo g
goboooooboooobbooobbbooooboboooobboooobLbooon
iU UUUUUo g
goboodgoobooobobooan

n=400000000000 BO0O00ooOoon

3. printf ("%41i",r); 0%1i00000 10000000000000O0ODO
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1 /* binary.c -- print positive interger in binary notation */
#include <stdio.h>
void toBinary(int);

4 void main(void)

5 A

6 int n;

7 printf ("Enter a positive number: ");
8 scanf ("%d", &n);

9 toBinary(n);

10 putchar(’\n’);

11 3}

12 void toBinary(int n)

13 {
14 int r;
15 if(n !'= 0 ){
16 r = n%2;
17 toBinary( n/2 );
18 printf ("%1i",r);
19 b
20 return;
21 }
O 74: binary.c
toBinary (4)

lr=47%2=0
|toBinary(4/2 = 2) 00000
toBinary(2)
lr=2%2=0
|toBinary(2/2 = 1) 00000
toBinary (1)
lr=1%2=1
|toBinary(1/2 = 0) 00000
toBinary (0)
| return
lprintf(r) 1 00O
| return
lprintf(r) 0 OOO
| return
lprintf(r) 0 OOO
|return

O 75: 0000 toBinaryOOO OO OO
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31 0O0O0OOOO

31.1 0O0OO0OO0O0O0OO0OO0OOO

1. 00000000000000000D0D0000000000000000000000
0000000000000000000000000000000 [ f(z)de 0000
0000 [a,b) 0 n000000000 A(=(b—a)/n)000000000 2,0 2000
Oo0o000 xgy=a,xry=a+h,xzo=a+2h,...,z,=a+nh=00000
O0D0000 f()00000 [2,2,44) 00000 (a4, f(2i)) DO (2441, f(241)) 0000
0000000000000 0000000 [f(x)de0DOOO0OO A/2:(f(zi)+f(xit1))
0000000000000 D0000000000DO0O0000

/abf(a:)da; ~ Z da;_Zh/Q zi) + f(zis))
= h/2 950)+f( ))+h/2( (1) + f(@2)) + -+ B/2(f(Tno1) + f(z0))
(1/2 f(xo) + f@1) + flz2) + -+ fl@a-1) +1/2 f(zn))
= h(A+ B)
oood

— Uqu@+U2fm0:U%ﬂ®+fU)

B = f(x1)+ f(x2) + -+ f(zn-1) Zf ;) —Z fla+ih)
h = (b—a)/n

f(x)

- /|

Y
x

a a+h a+2h b

2.000000: O000DO0O0O0O0ODDDOO0O0O0O00Da,p0000D0D0O00nDDOO0OND
O000sO0C0O0O00000OOdouble f(double); OOOOOOOOOOOOO

= (b - a)/n; OO0 w000

= (f(a) + £(b))/2.0; ADDOO
for(i = 1; i <= n-1 ; i++) s += f(a + ix*h); AOBOOOO
S = sx*h;
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31.2 0O0OOOOOOO

0000000000000 b000O0 7000000000 Db00O0DOtraped oo
ugoooobboboooooobobooobbotboooooooobobboooooooboobooboboooa
ugbobooooobooooooood

1. |printf ("Result = %e\n", trape(a,b,g));

32

0000 trape(a,b,g) DDDDDDDDDDDgDD‘DDDDDDDD ogooooo
dddddUdtrape g oooooooy

double trape(double a, double b, double(*f) (double))

OO Odouble(xf)(double) DD ODO0OOOOOOO0ODODOOOOODOfO0O0OODOOO

O00000Q0 double hi(double); OOh1 O 0double 000000 ODOOOdouble O
DDDDDDDDDDDDDDDDDDDDDDthD’double (double)’DDDDDD
O00000000C0ODODO0Odouble(*h2) (double) OO OO DO (¥h2) O

double (double) 0 DODOODOO0ODODOK2O0000000D000000O0O0ODODO

dddddiblbgUUdoubleD DO UOOOOOOOdoubled 0 DOOOOOQOQon
OO00O0OOg0Odouble (double) DOOOOODODOOOOOOOODDOfODOOOOO

gogobbuoooboboooobobouofdobbbooogboobooooooon

s += (xf)(a + ixh); OODODDODODO s += f(a + i*h); OOOOOOO CODODO
goooogan

*0D ()o[Joooo

o DD0ODOOODOx () JODoO0OO:

= W e

o [:

0oOoOooooooDooO
0o0OoOo0o0o0+«x00000
JoOooooooooooo
000(0O0000000000000000000000000000000

int *color([7]; colorO0000000O0O0ODODODODODODOInt *xO00

int cards[4][13]; cards 00000000 O0DOOOOODOOO 13000000
000 1300004int 00O

int (xptr)[10]; ptr 000000COO0OOOO 1000int00000ODOOOO
gooboooooono

int *func(); funcO00O 00000000 iInt *00000int000000O0OOO

int (xfoo)(); fooODOUDODODODOODDODOODOODOODOODODODO
U0int 00000000 funcU0int 00000 0ooooonon

int (*clock[4])(); clock DD OODODOOODODOODDOODDODODODOD
U00Oint 000000000 DOCclockUUint 000D O0OO0O0OOOOOOO
gogooooooon

39



10
11
12
13

14
15
16
17

18
19
20
21
22

23
24
25
26

/* integ.c trapezoidal numerical integration */
#include <stdio.h>
#include <math.h>

#define N 50

double trape(double, double, double(*) (double));
double g(double);

void main(void)

{
double a,b;

printf ("Enter a, b ?\n");

scanf ("/%1f %1f",&a,&b);

printf ("Result = %e\n", trape(a,b,g));
}

double trape(double a, double b, double(*f) (double))
{

double h, s;
int 1i;
h= (- a/N;

s = ((xf)(a) + (x£)(0))/2.0;

for(i =1; 1 <= N-1 ; i++) s += (xf)(a + ix*h);
return sx*h;

double g(double x)
{

return (sqrt(4 - x*x));

3

O 76: integ.c
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33 OO0

1. 0000000000000 0000000000UO0ODO 30000000 (xy,2) 000
gobobooooooooooon

Oo0o000o0o0o0o0oOoOoooooooooooo0oo oo oooooooooooon
0000000 xO0000000000000 2000000000000000
double x[2];

D000 x[0]00D000D00OD0O0O0ODO0OD x1]OD00O0O0ODO0O0ODOODOOODODOOOD

2. 00000000 1000000 bO000D0DDO0ODODDO0O0ODODDbOUOODUODDOO0OD
oo Uuuooobbooog
goobbooobboboobuoobbuoobbooobb bbb uooobbo
gobboooobobbooobboooobooboa

gdodboddddodboododdodoodod0dddU0o0uLououo g
gl UUUUUUUOo g
goboooooboooobbooobbbooooboboooobbooobbbooOon
gobobooobbtbooobboooobobooon

3.|0000000gd
gdddddddddodoooooduouooooooobooooboboooouoyg

DDDDDDDDDDDDDDDDDDD

goboboooobbboooobbuooobbbooooobooboo

struct student {
char name[51];
int age;
char address[101];
char phone[16];
};

000Ostudent 0000000000 (000)0000(00|0000
0 0O O namel] agell addresslUphone U O UOOUOOOOOOOOOOOO0O0O0OO0O00O
ooloooojpooo

goboboooobbbdouobbibrel imdboooooboooooog

struct complex {
double re;
double im;

};

U0UOUOstruct oo ooobobobbbbbooon
oo oooogopobobobbobbbooon

gyl LUUUgyuo g
goooooobooon
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34

gbobooboboobooboboobobboobooboboobobbooboon
gboboooobbboooobbooobbbooobbx0yoobboooo
struct complex x, ¥;

DDDDDDDDDDD‘struct gono obod...;

OO0000 struct complex D0 int 0000 OOODOOODOO
OO00Ostruct complex OO UOOOODOOOON

struct complex z[10];

Ooboooog

ggoooood

gooddoooooboobbbbbbbooooooooooooobooobobbobbobo
guobboguobuooobboooboboobobooobooobbooobbooobbn
goon

struct complex { struct {
double re; double re;
double im; double im;
}x, ¥ }x,y;
oooood

O00Ostruct complex x; 00000000000 DO0ODOOx0000O0”00700
U0re000im J0dooodooooooooobbbbbodbboooouoogyg
goodoooo.guoooobobbbbbbbobooooooa

D000 x0000 12439000000

X.re 1.2;

3.9;

X.1im

x.rex.im0000double 00000000000 ODO0OODOOOOzZ5].im000O0O
goo

O7oooO0ooO0obO0o0ooOobOoooooobooooobobooooooo

goooon

.00000000000000O00O00U0O0 (DO0)0DOD0ULOODOOUOO0ODOOO

UOD0OgetComplex DU UUOODOOUOOOODDOOOODODOUONstruct complex U0
Oooooogoon

struct complex getComplex(void)

{

struct complex x;
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1 /% conjl.c conjugate complex number */

N

#include <stdio.h>

struct complex {
double re;
double im;

};

o O b W

~

void main(void)
{

9 struct complex x, ¥y;

(o9)

10 printf ("Enter an imaginary number\n");

11 scanf ("%1f Y1f", &(x.re), &(x.im));

12 y.re = x.re;
13 y.im = -x.im;

14 printf ("Conjugate complex is %1f %1f\n", y.re, y.im);

15 }

0 77: conjl.c

printf ("Enter imaginary number\n");
scanf ("%1f %1f", &(x.re), &(x.im));
return X;

3

UO00OUOconjugatel 000000000 OpUO0OUOO0O0OO0OOOOOoonobDOOO
OOconjugate(x) 000000000000 xO0O0O00pO0O0OODOODOODOOOP
O00000o0o0ooOo(oo)oood

struct complex conjugate(struct complex p)

{
p.-im = - p.im;
return p;

uogboboooooobooonoo

0d

() DO0OO0O0ODDOOUOOOOO
struct complex x={1.2, 2.3};
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1 /% conj2.c conjugate complex number */
#include <stdio.h>

N

struct complex {
double re;
double im;

};

o O b W

~

struct complex getComplex(void);
8 struct complex conjugate(struct complex);

9 void main(void)

10 {

11 struct complex x, y;
12 x = getComplex();

13 y = conjugate(x);

14 printf ("Conjugate complex is %1f %1f\n", y.re, y.im);
15 %

16 struct complex getComplex(void)

17 {

18 struct complex Xx;

19 printf ("Enter imaginary number\n");
20 scanf ("%1f %1f", &(x.re), &(x.im));
21 return x;

22}

23 struct complex conjugate(struct complex p)
24 A

25 p.im = - p.im;
26 return p;
27 '}

0 78: conj2.c

(b O0O0ODOO0O: 000000000 DO0ODO0ODOOO

struct complex x={1.2, 2.3};
struct complex y;

y = x;

(¢) D00OO0O0OOOOODOOOODO)x x ==y
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35

gobooobogon

gobbooobbobooobboodobbbuooobbboobbbdodbiconjugate

ugobooooon

1. 0000000000000 0O0Ostruct complexOUOODOOODOODOODOOODOO struct

36

complex U0 00OOODODODOOOOOOOOOOOOOOU

void conjugate(struct complex *p)
O00OvoidJUOO0O0ODOOODUOOO0O0OOUOODOOODO0OOOOOOOOOO0OO
goobobodoogobboooobboooobbooobobbooobbboooooboo

.gbpblddbbtbooobbboodgobbbooobbbooobLbbooobLbooOon

gobobobobobooodoobobbooooobbtbp.imddgbbooooooooog
gooboooobobbtboooobbbboooobobboooobDbbouooobobogs=
gbb0dxpUoboooobboooobbogoobbooobbboooobobooon
(xp).im000000D0ODOODO

void conjugate(struct complex *p)
{

(*p) .im = - (*p).im;
}

0000000000000 00 COO000D00D00D00000|D00DODoDOoO0->d
dddddiblp—>im0000000000000O00O0OODOC cconjugate OO OO
godd

void conjugate(struct complex *p)

{
p~>im = - p—>im;

}

O0x000O0000OO0O0DOCOO0O0O0ODO0O0DOUOconjugate(éx) ODOODO
O7ooo0obO0boooboobooboobooboooooboooog

gooouoooooooooobobooooooooooooooobboboooon
ool UUgooobboog
oo odououooooobooooooobooooboag
gonooood

googoud

1 [@@a00]

200000000000 DLOO0ODODO0O0ODO0ODOD0O0ODO0DDOODO0ODODOODOO
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/* conj3.c -- conjugate complex number (pointer version) */
#include <stdio.h>

struct complex {
double re;
double im;

};

struct complex getComplex(void);
void conjugate(struct complex *);

void main(void)
{
struct complex x;
x = getComplex();
conjugate (&x) ;
printf ("Conjugate complex is %1f %1f\n", x.re, x.im);

struct complex getComplex(void)

{
struct complex Xx;
printf ("Enter imaginary number\n");
scanf ("%41f %1f", &(x.re), &(x.im));

return Xx;

void conjugate(struct complex *p)
{
p—>im = - p—>im;

3

0 79: conj3.c

struct point {
double x;
double y;
I

gogddodoooooooooobobbobbbbn
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struct point rp[100];

OoobooobOolooobobooobuobobrpdbobobobOobDOO

gdddbodddddddooooduoudouooodoooooooooonoobooboag
0000000000000 000D00OUO0D0O0O (DODO0ODO00)0D00UDOoOOOO
000000000000 000 (000000 D)0000U00O0DU0DoDOoOoOooUooOo
iU boboboooboboog
gobboooooboooobooooboboooobobooooboboa

00000000000 000U0oo00Uo00 (000000 U)DoDoooUooo
goobboooo|jobbood bbb bboooooboobog
gobbodoobobtboooobboooobbooobobboooobbooon

2
2

[J\e}
~N N
U w

1.
2.

data pointer

2.[DDDDDDDO]|
0000000000000000 (00)000000000000000000000
00O struct point {double x; double y;}; 00000000 O0000O0O0O0O0OD
0000 (000 plist000)0000000000000

O00ooobobobooooboboobbooo 12, 22000000000 bobDbOOOn
O0000o0b00o 2000000000000 DO000DOD0D0O0ODDODODOODDODOOOD
O00000O0Odowble 00000 (D00 x, yOOO)OOOOOOOOOOOODOO
O00O0o0200000000000000O0O0000O0DOO0ODDODUOODODOOOD
O0”"007 0000000 next0 000000000

oboob0dplist0000O00DO0DODO x, y, nextUO0D0UOD0OOOOOOdoubled
goooooouoooobobibibibl nextdddogoooooyg

0000000000000 00oObO0o0ooO0b000ooDooOooOobD 20000000000
O00D0O0O00D0 plistJ000O0D0ODODOO0O0ODOO0OD0ODOD nextdooonoO 20
000 plist0000O0OOOO0OOOO0O0 nextU plist0 0000000
doboooouooooooooooo

struct plist *next;

oot plist 0000 ooooogg

struct plist {
double x;
double y;
struct plist *next;

};

next 0000000000 0O0O0O0O0O0DOOOplistd 000000 oononoobooOoOon
doboboooobbboooobbooon
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3.

next X: 9.2 next

NN

:3.3 NULL
1 6.5

N

malloc 000000000000 |

struct 00 00000000000000000000000000000000000
0000000000000 (000000)00000000000000000000
000000000000 0000000000000000000000000000
000000000000000000000

gddodoououooobbbbibibibibibibiUUlOmalloc 0000 Omalloc OO0
ooy Uuuuygouooboboboboog
gobboooooboooboboooonoon

100 plist0000000DO0OD0OOODOO0ODOODOOODODODDOODOOD

sizeof (struct plist) OO0 OJ0D0OO0OOO0O00OOO0ODODOOmnalloc(sizeof (struct plist))
O000O0OmallocO00000O0O0O0ODOsizeof(struct plist) JO0O0OO0OOOOODO
gobooouoooouoooooo

UO00OmallocUUOOD0OOOOOOOOOOOOOOOOLOOOOOODbDOOULbDOO
voidOODOUOOOOODOOOOOUOOLOODOUOUOOO0bbODOO0OU struct plist OO
odoooouooobbbibstruct plist 000000000 oooon

(struct plist x) 000000 ODOOOOODOOOOOOOOOO0OOODOOOOODO
O0D00000D0 (struct plist ») 00000000000 ODOOODOODOOOO

p = (struct plist *)malloc(sizeof(struct plist));

uobodgobiidplistddddooobgoobopbbgobooonog
gboboooooobod

p—>x = 1.2;
p—>y 2.2;

gobobooooboobotboooobboooooo

00o0D0o0o0O0o0ob0obo0oboobobD sooobo

0d

(a) malloc0 000000000 O#include <stdlib.h>0 000000000

(b 000000000000 Omalloc000000O0DO0O0UOODOONILLOOOO
gboboo8oUubobooobooboboooboboboobooboobobooobo
ugbobooooooboooooog
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/* list.c List structure for polygon vertexes */

#include <stdio.h>
#include <stdlib.h>

struct plist {
double x;
double y;
struct plist *next;

};

void main(void)

{
struct plist *p;
double xpos, ypos;

printf ("Enter X and Y: ");
scanf ("%1f %1f", &xpos, &ypos);

p = (struct plist *)malloc(sizeof(struct plist));
p->X = Xpos;

pP=>y = ypos;

printf ("(%1f %1£)\n", p->x, p->y);

O &80: list.c

p = (struct plist *)malloc(sizeof (struct plist));
if(p == NULL){

printf ("Memory allocation error!\n");

exit(-1);

+;

0000 exit(-1); 0000000O0O0O0OOOOOOODODOO

(c) calloc:malloc 0O 00O O0O0DOOUOOOOOOOOOOOODOOOODOCcalloc
U00ODO0callocOOO0OO0O0DOOO0DOOODOOODOOOOOODODOOOOOOODO
gooooogooao

int *ip;
ip = (int *)calloc( 3, sizeof( int ));
xip = 1; *(ip+1)=2; ip[2] = 3;

99



0000000 int0000 3000000 ip00OO00O0ODO
ip[0]=1; ip[1]=2; ip[2]=3; OO OO

1. (1000000

guobboguobouooobbooobobooobboobbuooobooobboobobn
goooooooooobbobbn

gL yUUuLuouo g
000000000000 0000000O0D0O0O0000O00 (boboooUoD)oOoo
gooood

new

next

O000000 start 0000000000000 nextddggg
start 0000000

000000 OmallocO 000000 OOLOOO0OUOD newO OO0 ooogonog
gbobbooooboobotboooobboooooon

start = NULL;

while(scanf ("%1f %1f", &xpos, &ypos) != EOF ){
new = (struct plist *)malloc(sizeof (struct plist));
new—->x = Xpos; new->y = ypos,
new->next = start;
start = new;

08100000 00b0ooooog

(a) ‘start = NULL;
000 start = NULLOOODOOOONILLOODOOOODOOOOO”000000
00000”00000 00D00000DO0ODO0ODODOODOODO0ODODOODbOOD

start = NULLO start 000000 (DO0OO0O0OO0O0)000000000O0OOO
gono

(b) ‘new = (struct plist *)malloc(sizeof (struct plist));
0000 whileOOUOOOOUOOOOOODOOODODUOOmalloc 00000 new
UOO0DO0O new—>x = xpos; new->y = ypos; UUUOUOODDOOOOOODOOOOO

(c) |[new->next = start;
U0 newOO0OD0O0O0O0OO0O0OOOnew UnextJ0000oooooogoogno
Ustart DO OO0 OQ
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start = NULL; new = (struct plist *)malloc(sizeof (struct plist));
start new

start new
[NnOLL] [ 2 ]
N
new = (struct plist *)malloc(sizeof (struct plist)); ; %% NULL
start new
NULL .
[voec] [y K
X:? s new->x = Xpos,
y:? ’ new->y = ypos;
New->X = Xpos, start new
new->y = ypos; | | |
start new
[NULL | | | 535 | NuLL
X:9.2
112 . ?
y22| 2 y: 4.7
new->next = start; new->next = start;
start new start new
[NV e N N
23 [NULL i35 | L
y: 4.7
start = new; start = new;
start new start new
I I
;2o s 5B

08l: 000000

(d) |start = new;
new O OOOOOOOOOO start newO OO0

gl UUuuuoouoobobnooooyg
gyl yduuouo g
00000 next0 NULLOODOOOOODODDODOOOODDODOOOODDODOOOODDOOOO

2.|000D0000O
goboooobobtoodobbuooobbbooobboo0nobbuouounong start
OO0000000Db0b0pdb0bOOO0ObDp>x, p>wyodoonooooonoooDOO
gooo

2000000 p—»next 000000 OO p =p—>next; 000 pUOOOODOOOODO
ggooooouooooobbb N Lo pb NULLOOOOO4O4QQoooo g
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whileJODODODODODODODOOOOOOOOOO

p = start;

while( p !'= NULL ) {
printf ("(%1f %1£)\n", p->x, p->y);
P = p—>next;

}

oooobobooboboono 8200004

typedef

typedef O OUOO0OO0DDOOO0ODOOOOOOOO0ODODOOOOODOO

typedef char[] STRING;

O00Ochar[]0 (00000000 0O)OSTIRINGOODODOODOODOOOOOOOOO
O0p00O0O0O0O0ODOOCchar pll; DOODOSTRING p; OOOOODOOOODO

STRING p; O char pl]l; O0OO0O

struct U UOUO0OO0OD00O0O0O0O0D00DO0O0O00OSstruct plist0 00000000
gopooood

typedef struct plist * PLIST_PTR;
typedef struct plist {

double x;

double y;

PLSIT_PTR next;

} PLIST;

goboogobbOod struct plist DUOOOOOOOOOPLISTOO
UUOstruct plist *» UOUOUOOOUOODOOOOPLIST_PTR DO OOOOODOOO

goooood

guobggguoboooobooboboobob oo ooobobooobboobbo
gddddodooouoououoooobotboooddooduoouogooooooboooobog
goodoooooo

U0 printlist 0000 pUOOOO0OOOOOOOOOOOOOOODOOOOOOOODO
000 p0000D00D00D000O0OUOUD pONILL(OOODO)000O0ODOODOODOODO
gooobod

void printlist(PLIST_PTR p)
{
if(p != NULL) {
printf (" (%1f %1f)\n", p->x, p->y);
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/* polyl.c List structure for polygon vertexes */

#include <stdio.h>
#include <stdlib.h>

struct plist {
double x;
double y;
struct plist *next;

}s

void main(void)

{
struct plist *start, *new, *p;
double xpos, ypos;

start = NULL;
printf ("Enter X and Y: ");
while(scanf ("%1f %1f", &xpos, &ypos) != EOF ){
new = (struct plist *)malloc(sizeof (struct plist));
if (new == NULL){
printf ("Memory allocation error!\n");
exit(-1);
s

new—>x = Xpos;

ypos;
new->next = start;

new->y
start = new;
printf ("Enter X and Y: ");
p = start;
while( p != NULL ) {
printf ("(%1f %1£)\n", p->x, p->y);

P = p—>next;

3

0 82: polyl.c

printlist(p->next);
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> gcc plist2.c

> a.out

Enter X and Y: 1.2 2.2

Enter X and Y: 9.2 4.7

Enter X and Y: 3.3 6.5

Enter X and Y: °D (Control-D)
(3.300000 6.500000)

(9.200000 4.700000)

(1.200000 2.200000)
>

0 83: 000

000O000<pl,p2,p3>00000

printlist(start=<pl,p2,p3>) 00000
|printlist p=<pl, p2, p3>
lp1 O print
|printlist(p.next=<p2, p3>) 00000
|printlist p=<p2, p3>
|p2 0 print
|printlist(p.next=<p3>) 00000
|printlist p=<p3>
|p3 0 print
|printlist(p.next=<>) NULLOOOOOOOO
|printlist p=<>
| return
|return
| return
|return
|return
| return

| return

O00000008OO0oooog
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/* poly2.c List structure for polygon vertexes */

#include <stdio.h>
#include <stdlib.h>

typedef struct plist * PLIST_PTR;
typedef struct plist {

double x;

double y;

PLIST_PTR next;

} PLIST;

void main(void)

{
PLIST_PTR new, start, p;
double xpos, ypos;

start = NULL;
printf ("Enter X and Y: ");
while(scanf ("%1f %1f", &xpos, &ypos) != EOF ){
new = (PLIST_PTR)malloc(sizeof (PLIST));
if (new == NULL){
printf ("Memory allocation error!\n");
exit(-1);
¥

new—>x = Xpos;
new->y = ypos;
new->next = start;
start = new;

printf ("Enter X and Y: ");

p = start,;

while( p !'= NULL ) {
printf (" (h1f %1f)\n", p->x, p->y);
P = p->next;

}

0 84: poly2.c
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1 /* List structure for polygon vertexes */

2 #include <stdio.h>
#include <stdlib.h>

w

typedef struct plist * PLIST_PTR;
typedef struct plist {

double x;

double y;

PLIST_PTR next;

} PLIST;

© 00 N O O b

10 void printlist(PLIST_PTR);

11 void main(void)

12 {

13 PLIST_PTR new, start, p;
14 double xpos, ypos;

15 start = NULL;
16 printf("Enter X and Y: ");
17 while(scanf ("%1f %1f", &xpos, &ypos) != EOF ){

18 new = (PLIST_PTR)malloc(sizeof (PLIST));
19 if (new == NULL){

20 printf ("Memory allocation error!\n");
21 exit(-1);

22 3

23 new->x = Xpos;

24 new->y = ypos;

25 new->next = start;

26 start = new;

27 printf ("Enter X and Y: ");

28 }

29 printlist(start);
30 }

31 void printlist(PLIST_PTR p)

32 {

33 if(p !'= NULL) {

34 printf (" (%1f %1f)\n", p->x, p->y);
35 printlist(p->next);

36 }

37 }

O 85: poly3.c
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HEN
1234 10000
0137 ooboOnogs8ObOnO
0x37FC ooboxOO 16000
9.5e-2 91.5 ooooooboooog
‘m’ oooo
L’x’ wideODOODO
"hello" ooboobooooobooogon
L"hello" wideOOODODO

gooogg

ooboobo10bo000 int, long int, unsigned long int
000000 8/160000 int, unsigned int, long int, unsigned long int
f F float
1 L long double
1 L long int, unsigned long int
u U unsigned int, unsigned long int

ul UL unsigned long int

Jdoogooouoooouon

\a 00 \b Oo0o0o00d
\f OO \n oooo
\r OO \t oooo
\v 0000 \’ 00000000
\" OoDO000d \7? 000
\\ Oo00000d \ddd gooooooo
\xdd l60000000 \O oooo

107



[]

/* comment */

Oo0ooo/«0«x/0000

jim = 5;

goog

I

ugn

{tmp=a; a=b; b=tmp;}

Oo0o04{bx00000

break;

break 0000000 while, do, for, switchOOOO

continue; continue 0 0 while, do, forOQOQOQOoonOono (D ooo
000)o
do do-while 00 whileOOOOOODOOOOOO
c=getchar();
while(c == 2 ?);

for(i=0; i<MAX; i++)
alil=0;

for0000000000000000 (alil=0;)000
00000000 (i<MAX)O0O00 (i++) 00000000
0000000000

goto error;

error: printf ("ABORT\n");

gotoUUUOUOOOOOUOUOUooououoooon

if (a<0) a = -a;

else printf("was plus\n");

if0000000o00ooooooooog
else0000000O00O0OOODOOOO

return X;

return 000 0000O0O0O0OOO0O0O0O0O0O0O0O0O

switch(getchar()){
case ’X’: exit(0);
case ’H’: help();
break;

case ’A’: case ’B’:
a++; break;

default:

printf ("try again\n");

by

O (getchar()) 0000000000000 case0 OO0
00000 (exit(0) OODOOODDOOODOOODO)
uobbh’prodobbdo0obbbo0oubid break
oddutut case000ooonoO

A 0b0’prggoooooooood

OO case 0000000000 default ODOODOOOOODO

switchO OO OO

while(i<MAX) al[i++]=0

ugoboooooobooon
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HEN

char alpha; 1000oogooon

char msg[]="HELP"; 0000000 (h000000)

char *ptr; ugobbooooobooon

const char w=’x%’; oo0ooooooon

double big; gogoooboodn

enum color {red, yellow=2, blue}; OO00enum color DO OOred O 00 yellow
O 20blued 3000000

enum color good=blue; UOOenum color00U0 goodDUUUDODOU bluel

float raft[10][20]; 200000

int i,j,k; (0D0D0O0O0)ooo

long int jumbo; (0000)000 int000D00O0O0O

long double huge; ugoboooaon

short x,y; (00000)000 char000000 int000O0QOO

struct emp{ O0O0Ostruct empd 000

char fnamel[15]; O000 fname OO OO

unsigned sex:1; uooboooooobooad

} person; gogoooionon personddgg

typedef char *string; string0000000000O00DO0OO0OO

union kludge{ ooooooo

char c; oobooboooobooooobooon

float f;

} mixed={’x’}; ooo

unsigned 1imit=0x3FF; ugoboobooooobooaa

void end(void); 0000000 end00ODO

void *ptr; ogoood

ogon

auto obooboooboooboooooboobobooo
oobOoboboooboobooooonn

extern 00 (00000)00000U0bDO0o0O00oDUOUoOoDOO
oobooboooooon

register oboooboobOooobooobuoobboooooo
oooooooon

static oobooboooobooooboobooooboon
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oooogon

(] gooad al1]

O goooog f(x)

. 000 (Do0)0ooo pl.fname

-> 000 (D0o0)oooooo p—>x

++ ooooooooooon i++

- ooooooooooo i++

* ooooooa i--

& ooooooa &x

+ - ooooooono +1 -2

! aooo Iflag

- ooooooa “b

++ odoooooooooo ++i

- ooooooooooo --i

sizeof oooooooooo sizeof (int) sizeof x

(type) goooooo (int)x

* 0o 2%X

/ RN x/2

YA 00 1%2

+ - ooood 1+2 2-1

>> ogooad b << 1

<< gooad b >> 4
<Ooooo x <0
> x>0

<= < x>0

>= > x <=0

== ooood X ==

= oooooo x =0

& 00000 AND b&\x0F

- Ooooo XOR b~ \x0F

| ooooo OR b|\x0F

&& ooo (a>0) && (b<0)

| | ooo0 (a>0) | | (b<0)

? ooood (x>0) ? x:-x

=*=/=

fh= += —-= ooooad X *= 2

~e = g=

<K= >>=
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ooogn

int fclose(FILE *stream)

goooooooobbbbbbn
goobooon

int fgetc(FILE *stream)

gdoooopoooooogooa
Oendof ileOODEQFOOODO

FILE *fopen(const char *fname, const char *mode)J IO OO OOOO0O

mode

r

ggooooooooobbbobbon
gobooNuLLggnon
ggooooooooobbbobbon
gogoobobooboood
gooogobbbooooobbonod
ggd
oboobooooboooooooboood
goodoooooooobbbbn

fputc(int ¢, FILE *stream)
putc(int c, FILE *stream)

gobooooobobooan
fputc OO OO OooOoooooo
goooooooooan

fgetc(FILE *stream)
getc(FILE *stream)

goooooooobobobbn
feetcUUUODOOOOODODODO
goooooooooan

getchar (void)
char *gets(char *str)

gooboooobobooonoo
godoooooooooooo

putchar (int c)
puts(const char *str)

gooboooooboooon
goboooooooooooon

oooooogd

const char *format;
int scanf(format, addrl, addr2,...)

int printf(format, exprl, expr2,...)

int fscanf(stream, format, addrl, addr2,...)
int fprintf(stream, format, exprl, expr2,...
int sscanf(string, format, addrl, addr2,...)
int sprintf(string,format, exprl, expr2,...)

oooooodn
Dodooooooouoooon
D/DDDDDDDDDDDDD
O000000 end of filed OO
OEOFOO0O0O0O000O00O000O00
goooooooooooooao
goooooodgao
googdoo

gooood

0000 (000)00000
gooooood
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ooougn

h<E><w><.p><m><c> gooogogogdg

<f> gooo
- ugn
+ gooo
RN ugobbooooobooooobooao
# oooonog

<w> ggd

<.p> HRE

<m> ooo
short int
long int
double
long double

e~

<c> 0000
0000 100000 scanf 00 1600 8000
000010000

000010000

000016000

00008000

0o

0Doooooooo0

0000

ooooo

00000000000000000

0000 (0oo0o0)
000000000000000 printf 0000000
00000

<

™

B0 B H ®© W O O W & H Qo
«
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00000 /00000

#define TRUE 1 O00 TRUEO 10000000

#define NEG(x) (-(x)) OO0O0ONEG(x) O (-(x))J000 x0O0ODO

#undef DEBUG 000000000000

#if MODE == O000000000000000#elif0 #elsed #endif
00000000000000

#ifdef TESTME O000000000000000000000#if0000
#if defined(TESTME) 0O OO0

#ifndef TESTME 00000000000000000o0o0o
O0#if OO0 O O#if !'defined(TESTME) OO OO0

#elif defined (FLAG) 000000000000000000000000
#ifO #ifdefO#ifndef 00 OO0 00O #endif 0000
0o

#else 000000000000000000000000

#if #ifdefU#ifndef DD OO OO DODOOOODODO #elif
ooououobooobbobbibibibibibbO0O#elsel O
UO0D0OD0#endif U0 0O0OODOOOOO

#endif #if(O#elif#else 00O

#include "local.h" goddobodoobooooooooooo

#include <local.h> dodboooboooooooobouooooooooon
oood

#include FAVORITE OOOFAVORITEODOOOOOODODOOOOOOODOOO
good

#line 100 "somewhere" goooooooooooood

#pragma 0000 (00000)00o0oooooo

# oooo

#it Ogodoooooooooooooooooaoa

__LINE__ ood

__FILE__ goood

__DATE__ oo0oooooooooon

__TIME__ odoooooooooo

__STDC__ ANSICOOOOODOooo 1
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